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Question Number : 1 Question Id : 92775912791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After arranging the given words according to dictionary order, which word will come at ‘fourth’ position?
1. TRAILS

2. TRAITS

3. TRADING

4. TRADEMARK

5. TRAUMA

Options :

1. ¥ TRAUMA

2. % TRAILS

3. ¥ TRAITS

4. * TRADEMARK



Question Number : 1 Question Id : 92775912791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 70 Wec)} P TGHIY &b TR HARYT HRA &b TYTd, B IT e Y VI TR ST
1. TRAILS

2. TRAITS

3. TRADING

4. TRADEMARK

5. TRAUMA

Options :

1. * TRAUMA

2. % TRAILS

3. ¥ TRAITS

4. * TRADEMARK

Question Number : 2 Question Id : 92775912792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
PT, MN, JH, GB, ?

Options :
1. * EW
2. ¥ DV
3. % FX
4. = GY

Question Number : 2 Question Id : 92775912792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3o H fear T &, foraw ¥ & g g 7| U 7Te fawed! # 3 95 9e! fased 9, S oishd &1 11 3|
PT, MN, JH, GB, ?

Options :



1. * EW
2.¥ DV
3. % FX
4. %= GY

Question Number : 3 Question Id : 92775912793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
NR42, SY54, XF50, CM26, HT38

Options :

1. ®¥ SY54
2. % CM26
3. ¥ XF50
4. % HT38

Question Number : 3 Question Id : 92775912793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd far mar ], o § v e 7Tad g | fou e faswent §f 9§ 39 ed ug & gHu|

NR42, SY54, XF50, CM26, HT38
Options :

1. % SY54

2. % CM26

3. ¥ XF50

4. % HT38

Question Number : 4 Question Id : 92775912794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
CN19, ER25, GV32, 17237, KD17



Options :

1. # KD17
2. % GV32
3. ® 1737
4. % ER25

Question Number : 4 Question Id : 92775912794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T 8, Ford ¥ U ug 7ad ¢ | faU 7Y fawed! o 9 39 7Tad g & gHu|

CN19, ER25, GV32, 1237, KD17
Options :

1. ¥ KD17

2.% GV32

3. % 17237

4. % ER25

Question Number : 5 Question Id : 92775912795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related words from the given alternatives.
Cricket : Sport :: Dog : ?

Options :

1. ¥ Animal

2. % Bark

3. * Grass

4. * Bone

Question Number : 5 Question Id : 92775912795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o fau e fawed & ¥ efia wsg! &) gt



fohdbe : el - il : 2
Options :
1. % S[HdR

Question Number : 6 Question Id : 92775912796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related word pair from the given alternatives.
Pitch : Cricket :: ?

Options :

1. % Rink : Boxing

2. % Court : Tennis

3. % Boxing : Ring

4. % court: swimming

Question Number : 6 Question Id : 92775912796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & fiu e fawenl & § Tefid wsg g &1 gfu|
U b =2 2

Options :

1. % & : JifRiT

2. ¥ B A

3. % qiforq: R

4. % BIE . Wb

Question Number : 7 Question Id : 92775912797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related letter pair from the given alternatives.

GOL :ORJ :: ?
Options :
1. ¥ PIG: JLS

2. ®* LAB:YDO
3. ¥ TOM : NLW
4. % RAG: TDO

Question Number : 7 Question Id : 92775912797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad uy & fu 77T foswedl B 9 Hefdd 3feR g &l gHu|

GOL : ORJ :: ?
Options :
1. ¥ PIG : JLS

2. % LAB:YDO
3. % TOM : NLW
4. % RAG: TDO

Question Number : 8 Question Id : 92775912798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letter pair from the given alternatives.
PAIN : PWAB :: ?

Options :

1. # GOAL : GKRZ
2. % PINT : PFFH
3. % LINK : LEFY
4. ¥ ROPE : RKGS

Question Number : 8 Question Id : 92775912798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & i 77T fowedl § 9 e sfeR g &l gHu|
PAIN : PWAB :: ?

Options :

1. * GOAL : GKRZ

2. % PINT : PFFH

3. ¥ LINK : LEFY

4. * ROPE : RKGS

Question Number : 9 Question Id : 92775912799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘I hope so’ is written as ‘7 9 2’, “We expect so’ is written as ‘8 2 4’, ‘I and you’ is written as ‘5 6 7°. What is the code
for ‘hope you’ in that code language?

Options :
1. %97
2.%56
3.%29
4. ¥ 95

Question Number : 9 Question Id : 92775912799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fafRy wre ywi d, 1 hope so’ P792° %@TW%, “We expect so’ DI 824’ ﬁ‘l@’[\_ﬂ?ﬂ%, ‘T and you’ B 5 6 7 feraT ST B BRI
aﬁglﬂmﬁ‘hope you’WﬁgTﬂT%‘?

Options :

1.% 97

2. % 56

3.%29

4.495

Question Number : 10 Question Id : 92775912800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘SAMPLE’ is written as ‘' KHRSWU’, ‘THOUGH’ is written as ‘NCWUDV”’. What is the code for ‘UNIQUE’ in that
code language?

Options :

1. # KQSPWJ
2. % KQSOJW
3. % KSQOJW
4, % KQSOKW

Question Number : 10 Question Id : 92775912800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Iy B8 UIWT H, ‘SAMPLE’ &1 ‘KHRSWU’ foRal SI1dT 8, “THOUGH® &1 ‘NCWUDV’ foRal ST 81 39 &1 HIWT H ‘UNIQUE’ &1
DS FAT?

Options :

1. % KQSPWJ

2. ¥ KQSOJW

3. # KSQOJW

4. % KQSOKW

Question Number : 11 Question Id : 92775912801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘BACKED’ is written as ‘KYPJUG’, ‘CLAUSE’ is written as ‘LMZHFH’. What is the code for ‘DEPUTY" in that
code language?

Options :

1. % FNWZYI
2. % NFZWYI
3. ¥ FNZWIY
4. ¥ FNZWYI1



Question Number : 11 Question Id : 92775912801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRy #Is W & ‘BACKED’ &1 ‘KYPJUG® foRaT STdT 8, ‘CLAUSE’ & ‘LMZHFH’ foRaT ST 8 | 39 &Is HTWT H ‘DEPUTY’ BT HIg
T2

Options :

1. % ENWZYI

2. % NEZWYI

3. % ENZWIY

4. ¢ ENZWYI

Question Number : 12 Question Id : 92775912802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘RETAIL + INDIA’ is written as ‘11°, ‘LARGE + BASE’ is written as ‘9’. What is the code for ‘COULD + OTHER’
in that code language?

Options :
1. %8
2.9 10
3.% 7
4. % 6

Question Number : 12 Question Id : 92775912802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U IRV B8 UIWT H, ‘RETAIL + INDIA’ &7 <11’ oRGT ST €, ‘LARGE + BASE’ &7 9° foRaT ST €1 39 &1 HIWT H COULD + OTHER’
DI DS T2

Options :

%8

2.4 10

3. %7

4. % 6



Question Number : 13 Question Id : 92775912803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘B E H G’ is written as 23 17 11 13°, ‘K I D E’ is written as ‘5 9 19 17°. What is the code for ‘M F J H’ in that code
language?

Options :

1. % 215611

2.% 114711

3.91157 11

4. % 1151011

Question Number : 13 Question Id : 92775912803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS AR RS HWE BEHG 17231711 13’ ORISR, K IDE B 5919 17 RRAT ST 81 ST IS HIWT & ‘M F J H’ BT hlg T
9

Options :

1.% 215611
2.% 114711
3.9115711
4. % 1151011

Question Number : 14 Question Id : 92775912804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing towards a boy, a girl said “He is the only brother of my father’s wife’s daughter”.
How is this girl related to that boy?

Options :

1. # Aunt

2. % Daughter
3. ¥ Sister



4. % Mother

Question Number : 14 Question Id : 92775912804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ASH BI 3R TURT IR §U, Th ASH! - BT “d TR a1 31 Uell B It 7 T WIS 87|
g dS! 39 dsd I 5y UeR Jefdd g2

Options :

1. % AR At 3 gen
2. %
3. ¥ g
4. % 9@l

Question Number : 15 Question Id : 92775912805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six tyres T1, T2, T3, T4, TS5 and T6 are kept one above the other (not necessarily in the same order) . T4 is kept just below T2. Only two tyres
are kept between T5 and T4. No tyre is kept above T6.
If only T2 is kept between T6 and T4, then maximum how many tyres can be kept between T1 and T6?

Options :
1. %2
2. % 4
3.%0
4.9 3

Question Number : 15 Question Id : 92775912805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BETRR T1, T2, T3, T4, TS AU T6 Th & FHUR U TW U & (SRe3! Al 1 U HH H &) | T4, T2 & o1 - [AT TR g | TS5 TUT T4 P A
PIA G TR W MU B | T6 P SHW Bl TR T8l 3@ T g |

gfe T6 YT T4 & A HId T2 T TATE, A T1 IYT T6 & HeT HfYbad fha TR I o I&hd 72

Options :




1. %2
2.% 4
3.%0
4.3

Question Number : 16 Question Id : 92775912806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 girls G1, G2, G3, G4, G5, G6, G7 and G8 are sitting around a circular table facing opposite to the centre (not necessarily in the same order). G1
is not the immediate neighbour of even numbered girls. G6 is to the immediate left of G8. G2 is third to the right of G4. G8 is the immediate
neighbour of G2 and G6.

If G3 is not immediate the neighbour of G1 or G4, then which of the following statement is correct?
Options :

1. # G1 is the immediate neighbour of G3 and G5

2. # Gl is to the immediate right of G7

3. # G4 is the immediate neighbour of G6 and G5

4. ¥ 7 can be fifth to the left of G8

Question Number : 16 Question Id : 92775912806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 ASfHAT G1, G2, G3, G4, G5, G6, G7 TUT G§ B o [AURId Hg TP U JuIHR ol & 3¢ — 111G 931 §5 & (STe] 1a] ! 341 HH H g
Gl,ﬂ%ﬂwaﬁmsﬁoq\fﬁﬁmcdw@?ﬁﬁ%ﬂG6,G8$§i‘craTd’f3hT%|G2,G4$arﬁ3h??ﬁﬂﬂ%lG8,GzawGéﬁﬁw
gerft g1

afe G3, G1 U1 G4 o1 Rdredq uer 761 7, af FafalRad § ¥ o 91 y4 Igt 82

Options :

1. % G1,G3 dUT G5 B Abead USrl §

2. % G1,G7 % qRd ol 3R §

3. % G4, G6 TUT G5 B! FRpedr usidt g

4. ¢ G7,G8 & Il 3R Uradl 81 gehcll §

Question Number : 17 Question Id : 92775912807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys B1, B2, B3, B4 and B5 likes one car among J, K, L., M and N (not necessarily in the same order). They also like one bike among R, S,
T, W and C (not necessarily in the same order). No two boys like same car and same bike. B4 likes R. One who likes J doesn’t likes W. B3 does
not like T but likes J. B5 does not like S, T and W. B2 likes N. One who likes R, doesn’t likes K and L.

Which of the following combination(s) of car — bike — boy can be correct?

.LK-W-B2

I.L-C-BS5

III.M-R - B4

Options :

1. % Only II

2. % Il and 111

3. % land III

4. % I, 1l and I1I

Question Number : 17 Question Id : 92775912807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul @Sl B1, B2, B3, B4 AUTB5 BT J, K, L, MAUTN H T T FR TS 8 (TR Tal P13 PAHAE) I SE R, S, T, WANCHI TS
S Ht TG § (SRes) gl &1 38 A H 8l | BIs Ht & TSh! ol A SR dUT THH S8 Ud< el g | B4 I R TG g1 98 oY J 1&g
%,ﬁwu;‘aqﬁ% B3PI TUHE T8l & AT J UG 81 B5 BT S, TAUTW UHS T8l 81 B2 HIN TG g1 98 PR R TS §, B K dUTL
¢ 8l g |

HR - T5P — ASH B FFRIRAd & T B /A TS et 81 Ihdl/Thd 8/8?

LK-W-B2

II.L-C—-B5

II. M—R — B4

Options :

1. ¥ Had II

2. % I dYT I
3. % TdYT I
4, % 1, 11 dYT 11

Question Number : 18 Question Id : 92775912808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If ‘H + R’ means ‘R is the wife of H’, ‘H @ R’ means ‘R is the father of H’, ‘H # R” means ‘R is the son of H’, ‘H + R’ means ‘R is the mother
of H’, ‘H — R’ means ‘R is the sister of H’, then which of the following statement(s) is/are not correct?

I. ‘K @ G—-F @ A + B’ represents B as the mother of K’s father.

II. ' M+F-G @K#C’ represents C, G and F as the sons of K.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 18 Question Id : 92775912808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afd ‘H+R* &1 34U ‘R, HBI el 87, ‘H @ R> BT 31 ‘R, HHI fUAT 3, ‘H# R BT 3 R, HBIGA S, ‘H~ R &1 3 ‘R, HBI AN 57, °H -
R &1 3% R, H B 98 ¢, dl Faferiad 5 A 19 /8 Sy 98l T8 282

LK@G-F @A +B’, B®IK P fUar &1 Arar exiar g1

IL.M+F-G@K#C”,C,GAUTFHIK & IA ST 8 |

Options :

1. % $had |

2. ¥ Had Il

3. % [ UGl

4. % qGIIATE I

Question Number : 19 Question Id : 92775912809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some F are C.

II. All K are C.

Conclusions:



I. Some K are F.
II. All C are F.

Options :

1. % Only conclusion I follows
2. % Only conclusion II follows
3. # All conclusion follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 92775912809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § | 3T T 1 & 981 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g
DHY-:

LPSF CRI

L9 K, C Bl

fam:

LPSK, FRl

.3 c, F gl

Options :

1. % Had FpY | SFIER0T el §

2. % Had BN I1 SR Hl §

3. % guff Freep SR R §

4.« 13 U FIh Y SRR T8 HraT §

Question Number : 20 Question Id : 92775912810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some red are white.

II. Some green are white.



Conclusions:

I. Some red are not green.
II. All white are green.

III. Some white are not red.

Options :

1. ¥ Both conclusion I and II follows
2. % Both conclusion II and III follows
3. % Only conclusion II follows

4. % Neither conclusion follows

Question Number : 20 Question Id : 92775912810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H 53 HYT 3R I §Ie 3 HYA W 3NURd $3 Fpy 3T 7w 7| fou Ty &1 I8 7E, TR S 9 91d )
I i 811§ e U SR iR Freifa &% 1o 3T e o @ feepd, 3T 7T o & 3R R gfaaed g

HY:

. $B O e & |

IL. $S & IHG ¢ |
fsep:

1. $® A g0 Tol § |

1. 9t g X1 B |

111 $ e ard T8l ¢ |

Options :

1. % G fISem T 1 T 11 SFIERUT el &
2. % QI FSHY I TUT 111 SIIERU Hd §
3. % Had TpY 11 TRV HRAT 8

4. ¢ Dz W FIoh Y SR T dRcT §

General Ability2
Group Number : 2
Group Id : 927759494

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 927759530

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 927759659

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 92775912811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. AIlF are T.

II. All M are C.

II. Al Care T.

Conclusions:

[. AlMare T.

II. Some F are not M.

III. Some C are F.



Options :

1. # Only conclusion II follows

2. % Both conclusion II and III follows
3. % All conclusion follows

4. ¥ Only conclusion I follows

Question Number : 21 Question Id : 92775912811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR AUNRG & 56y 3T T4 § | 3T T 2= &1 981 A, 918 S8 Qg 1 9
3 forzrar g1t e o ofk fisR e &% i fou o o @ s, fou U sy & smyR &R gfaasa g
HY:

L9 F T8I

L gt M, C B

L g c, T8l

frep:

LdtMm, TEI

IL. $SF, M Tl ¢l

L. $S C,FRI

Options :

1. % Had (sHY [1 SFIR0T Hal §

2. % QI FISHY I TUT 111 3IIERU Hd §
3. % gt Fpy SrERu Hvd §

4. $HI [T5HY [ 3IIRVT HaT §

Question Number : 22 Question Id : 92775912812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All G are H.



II. Some F are K.
III. Some K are G.
Conclusions:

I. Some G are F.
II. NoH is F.

III. Some H are K.

Options :

1. #® Both conclusion I and III follows
2. % All conclusion follows

3. % Only conclusion III follows

4. % Both conclusion I and II follows

Question Number : 22 Question Id : 92775912812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR YRG5 56y 3T T4 § | 3T T H= &1 981 A, 918 S8 Qg 1 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g
HY-:

L G HEI

II.WF,K%%

. $PS K, G

L$SG,FRI

1L B8 o, F ISR

1L $S H, K g

Options :

1. % QIFI FTSBY [ T IH1 SFJIR0T 63l &

2. % QU ISy SFR0T Hxd §

3. ¢ Had FSPY 111 3FTHRUI Rl §

4. % 1 SB[ T 11 SITEROT R &

Question Number : 23 Question Id : 92775912813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some land are hard.

II. Some hard are workers.

III. Some tyres are hard.

Conclusions:

I. Some hard are land.

II. No worker is tyre.

III. Some workers are hard.

Options :

1. ¥ Both conclusion I and III follows

2. # Both conclusion I and II follows

3. % Both conclusion II and III follows

4. % All conclusion follows

Question Number : 23 Question Id : 92775912813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR STUING & 56y 3T T4 § | 3T 7T H=1 & 91 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa &% i fou o o 3 s, fou e syl & smuR &R gfaasa g

HY-:

1. 99 Y T B

II. $3 T ASIgR & |

1. $S TR IXA g |

L 99 9% YT gl

II. ®is N} IR TR TR ]
111. $B HASIGR I ¢ |
Options :

1. ¢ QIFI FTSBY 1 T I11 SFR0T % &
2. % QI FSHY [ TT 11 3FJAR0T Rl &
3. % I S 11 9T 111 SRR 6% &




4. % Juft Frepef S RO A §

Question Number : 24 Question Id : 92775912814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
117,121, 113, 117, ?, 113, 105

Options :

1. % 110

2.9 109

3. % 114

4. % 115

Question Number : 24 Question Id : 92775912814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we & <1 7 e & 9 g 8f 1d S|

117,121, 113, 117, ?, 113, 105
Options :
1. % 110
2.9 109
3. % 114
4. % 115

Question Number : 25 Question Id : 92775912815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term wrong. Select that wrong term from the given alternatives.
369, 371, 379, 411, 540

Options :
1. % 371
2.9 540



3. % 379
4. % 411

Question Number : 25 Question Id : 92775912815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd fear mar ], Forw § v e 7Tad g | iU e faswedt §f ¥ 39 ed ug & giHu|

369, 371, 379, 411, 540
Options :
1. % 371
2. % 540
3. % 379
4. % 411

Question Number : 26 Question Id : 92775912816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘P’ means ‘—’°, ‘Q’ means ‘+’, ‘R’ means ‘+” and ‘S’ means ‘x’, then which of the following equation is false?
Options :

1. % 13Q76R19P15 < 56P21R7

2. % 95Q32R8 > 11Q24R34S17

3. ¥ 15Q46R72S36 > 85R17Q53

4. % 9S82Q93 < 6S81R3Q15

Question Number : 26 Question Id : 92775912816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe p 131 < QT 3 -, R> BT 31 - qYUT <8 7 37 o BY, A FAgfaifad H @ p a1 IR Ted 82
Options :

1. # 13Q76R19P15 < 56P21R7

2. % 95Q32R8 > 11Q24R34S17

3. % 15Q46R72S36 > 85R17Q53



4. % 982093 <6S81R3Q15

Question Number : 27 Question Id : 92775912817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[f26#14@78%$2=75and 18#9 @ 5%$3=33,then54#8 @ 6$4="
Options :

1. % 78

2. ¥ 66

3. % 50

4. % 58

Question Number : 27 Question Id : 92775912817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

26 #14@7$2=75TUTI8#9@5$3 =338, AM544#8@63$4="2
Options :

1. ® 78

2.9 66

3. % 50

4. % 58

Question Number : 28 Question Id : 92775912818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the diagram that best represents the relationship among the given classes.
Bird, Sparrow, Tiger

Options :



Question Number : 28 Question Id : 92775912818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
98 3RW AT S i U T8 ol & o9 & ey &1 et fAeuur Hrar g
uelt, fafsan, arg

Options :

1. ¥

BIElIE]

4. %



Question Number : 29 Question Id : 92775912819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the diagram that best represents the relationship among the given classes.
Aunt, Sister, Lawyer

Options :

QD

3. ¢



(0)O

Question Number : 29 Question Id : 92775912819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 3@ gAY o -1 3T T4 o7l & o & Hae &1 G| e a1 g |
31T, 984, Ihid

Options :

QD




3. ¢

O

Question Number : 30 Question Id : 92775912820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?

I. Number of cap which are only white are 14.
II. Number of bat which are cap are 16.

1 |—~Cap

13 14
\\ White
8 \ /
17 16 “}\

Bat




Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 30 Question Id : 92775912820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32 7T 3 3R & YR W, Fefif@d & Q@ & 91/ U 98l /82
1. 98 HU Sl had e &, Bl TGBAT 14 |

11. 98 9o Sl U §, I TBAT 16 T
n_ |- #
~.J13] 14
‘“\.\ aFE
17| 16 \9\\
4 3
EEgll
8
Options :
1. % Had |
2. ¢ HAA I
3. % [ qUT I el

4. % ATBIIATSII

Question Number : 31 Question Id : 92775912821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Based on the given venn diagram, which of the following statement(s) is/are correct?
I. Number of green which are neither ball nor red are 23.
II. Number of red which are not ball are 20.

Ball Red
14 A 13 12 Y9
WERED N
Green
Options :
1. % Only I
2. % Only II

3. % BothIand II
4. % Neither I nor 11

Question Number : 31 Question Id : 92775912821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32 7T 37 3R & YR W, Fefif@d & Q & 91/ Y 98l /82
L IE SIS AT g g 18 lad &, ) W 23 B



I1. 98 AT Sl 71G 781 &, P B 20 5 |

13

14 ll( \12)9
PTECRNE X
=
Options :
1. % FHad |
2. % Had II
3. ¢ 1 qUTIL A

4. % ATBIIATSII

Question Number : 32 Question Id : 92775912822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement(s) is/are correct?
I. Number of cats which are not rabbit are 28.
II. Number of dogs which are atleast cats are 24.

Cai 16
| L X8 7 3 X
14 9

-/
N —

2

Rabbit Dog



Options :

1. ¥ Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 32 Question Id : 92775912822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o T 3 3R F SMYR W, Fufeifed & o1 I/ U= 9t 272
1. 98 fafcaar it Y 981 8, 1 T=1 28 B

I1. 98 I ol HH J HH et dt §, B Te 24 B

Taedl 16

A

ALY
e

ot

.
LCEU B

Options :

1. ¥ FHadl
2. % Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 33 Question Id : 92775912823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.



1\

t




e

Question Number : 33 Question Id : 92775912823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad wer o, < it sfaen & 9§ Tad Sipfa & gl

Options :




3. ¢

e

Question Number : 34 Question Id : 92775912824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

Al A

B | B




9| 5
P | KR
L | J
o 1 d
11 F
G| G

Question Number : 34 Question Id : 92775912824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, fau e faswedt & 4 favw siefa &1 gt

Options :



3. ¢




Question Number : 35 Question Id : 92775912825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figures on the right of (::) from the given
alternatives based on the same logic/rule/relation.

® 5 Lo ® 00 o
Z R ? ?
o) o o 00 L+ ]

Options :




G 0 N
O My

) )

<@ © &b

aqN ° I/he
4.9

Question Number : 35 Question Id : 92775912825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(::) & St 3R &t et &1 snpfaat fordt adh/fMom/addy I defia g1 38 M faswedi § 9 () & ol 3R IHH adb/fAom/Asy wR sruia
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® |
0
F c 9
O
Options :
— ¢

1. ®
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Question Number : 36 Question Id : 92775912826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.




AN
==

n P

4 AUPJN

AN
"2

Question Number : 36 Question Id : 92775912826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
() P I 3R <Y Tt & 3ot fpdt b fam ey @ Gefid 31 8 T el H ¥ () & <l 3R JHM dob/Mam /ey W smenika
I $MPpfd S |
[s] ~ _..lu L+]
G o NO@ 4 v

VAV

Options :



A AUPIN

AT
4

Question Number : 37 Question Id : 92775912827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



—>

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

ElIE




Question Number : 37 Question Id : 92775912827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& e I SHiadl § J 39 IR Sl B g fora & uy siipfa Afga 71

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

! ©O




OO
LO
O

Question Number : 38 Question Id : 92775912828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All faces of a big cube are painted with yellow colour. 6 cuts are made on each axis of this big cube and then some small cubes are obtained.
How many small cubes will have only two faces painted?

Options :
1. ¥ 60
2. % 82
3. % 64



4. % 72

Question Number : 38 Question Id : 92775912828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 53 I &1 91 Had! & Ui 19 T T g1 39 T3 99 &1 IAD 318 R 6 HeTd A U g aul iR $6 B 99 U frd T g |
fhd BIC a4 Pt had gl B T gs s

Options :

1. ¢ 60

2. % g

3. % 64

4.% 72

Question Number : 39 Question Id : 92775912829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles and quadrilaterals are there in the given figure respectively?

Options :
1. % 6,3
2. % 8,2
3. 8,3
4. 96,2



Question Number : 39 Question Id : 92775912829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 112 anepfa o R frdm Byst aur agqys &7

Options :
1. % 6,3
2. % 8,2
3.% 8,3
4. 96,2

Question Number : 40 Question Id : 92775912830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :



O]
L« ]
el
O
‘
O
3.-«’/
oL

Question Number : 40 Question Id : 92775912830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 92775912831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pongal festival is associated with which state?
Options :

1. % Andhra Pradesh

2. % Tamil Nadu

3. % Assam

4, % Mizoram

Question Number : 41 Question Id : 92775912831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T AR fobd 3o § Teifea 82
Options :

1. % 3 U

2. ¢ AEArg

3. % 3H

4. % fOeIRY

Question Number : 42 Question Id : 92775912832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following monument is located in Rajasthan?
I. Bellary Fort
II. Amer Fort

Options :

1. % Only I

2.9 Only II

3. % BothIandII



4. % Neither [ nor 11

Question Number : 42 Question Id : 92775912832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafEd 7 & S 91 SRS o= H fRud 82
I. SR fobett

11 3R foboed

Options :

1. % PHad 1

2. HAd II

3. % [ QAT Ml

4. % AIGIATGI

Question Number : 43 Question Id : 92775912833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of State — Musical Instrument is NOT correct?
I. Gujarat — Damaru
II. West Bengal — Dhak

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 43 Question Id : 92775912833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - It arerds &1 gfeed § 3 oF 91 g I8t T8l 82
L IISRId — SHIR=

I1. U ST - gTh




Options :

1. ¥ FHad |

2. % Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 44 Question Id : 92775912834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dance belongs to Tripura.

Options :

1. % Santhal

2. ¥ Hozagiri

3. # Karma

4. # Fugdi

Question Number : 44 Question Id : 92775912834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B geRa R

Options :

1. % 9Yrd

2. ¢ BISIR

3. % oHf

4. % B}

Question Number : 45 Question Id : 92775912835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of State — dance is NOT correct?
I. Andhra Pradesh — Kelika



II.Haryana — Sua
II1. West Bengal — Chhau

Options :

1. % Only II

2. % Tand II

3. % Only III
4. % Il and III

Question Number : 45 Question Id : 92775912835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I - T 1 Fuferiad § @ o1 91 g wel T8t 82
L. 311y YR - biereh

11 gRATT — g3

111, UfEH &1 - 89

Options :

1. ¥ Bad 11

2. % 1dUrn

3. % a1

4. % T dUT I

Question Number : 46 Question Id : 92775912836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the difference between the monetary value of exports and imports of goods in an economy.
Options :
1. # Trade deficit
2. ¥ Trade balance
3. % Trade surplus
4. # Fiscal deficit

Question Number : 46 Question Id : 92775912836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T rfoaey § aeqai & Fafd 3R amard & Aifge qea & fi¥ &1 3R 2|
Options :
1. % IR 9rel
2. ¢ R oA
3. % R 3

4. % IJSIHINY HTe]

Question Number : 47 Question Id : 92775912837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The records all international purchases and sales of assets such as money, stocks, bonds, etc.
Options :

1. ¥ Capital account

2. # Current account

3. ® Trade account

4. % Balance account

Question Number : 47 Question Id : 92775912837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H uREufrEl o a1, Wi, dyus sfife a4 UebR & SRS sha-fashy o1 fdarur giar |

Options :

Question Number : 48 Question Id : 92775912838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

When banks hold a part of the money people keep in their bank deposits as reserve money and loan out the rest to various investment projects,
then it is called

Options :

1. % Cash reserve ratio

2. # Currency deposit ratio
3. ¥ Reserve deposit ratio

4. # Statutory liquidity ratio

Question Number : 48 Question Id : 92775912838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTF T GRT 30 8 WTd & S/ JaT H § 3 &1 3RIE Gal & U H I@H: AW IR o Faw uRaemrsii 8 ool & SgH €t <t g, af
3 GRS

Options :

1. % JRI&T Thg 3rgUrd

2. % S ST U

3. ¢ 3IRI&Id STHT Ut

4. % ifdfereh TReIdm 3gUrd

Question Number : 49 Question Id : 92775912839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Wholesale Price Index is true?
I. It is the price at which goods are traded in bulk.
II. In countries like USA it is referred to as Producer Price Index.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 49 Question Id : 92775912839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 1T AP & HeH | FHIRId T F S 91 HU Tol 62
1. I8 98 PIAd & o TR axgafl &I Ui & AR foam ofrar 3|
1. g o4 SR ol <=1 H 39 TG & IAd Jabid Ui HeT o gl

Options :

1. % FHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 50 Question Id : 92775912840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding monetary policy of India is correct?
I. The primary objective of monetary policy is to maintain price stability while keeping in mind the objective of growth.
II. Repo rate is one of the instruments of monetary policy.

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 50 Question Id : 92775912840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd ®t Aifad A & g & Fafied & 4 &9 91 H3- I8! 62

. A ifa &1 3o 35=T 3fg & I & e H W gU Yoo R §91Y T@ T 7 |
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Options :

1. ® Hadl




2. % Had Il
3.« 1 QYT I Sl
4. % BB I

Question Number : 51 Question Id : 92775912841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tooth decay starts when the pH of the mouth is lower than
Options :

1. % 72

2. % 6.8

3.55

4, % 78

Question Number : 51 Question Id : 92775912841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

48 & pH HTAH T HH B WR ald! BT &7 URH 81 ST 8 |
Options :

1. % 72

2. % 6.8

3.¥55

4. % 78

Question Number : 52 Question Id : 92775912842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Fossil fuel contains small amounts of Nitrogen and Sulphur.
II. Combustion of fossil fuel removes the suspended particles from the air.

Options :
1. % Only I



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 52 Question Id : 92775912842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad & @ ®F 91 &YF 981 /2
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11. Siiared S &1 g8 arg § ¥ fAafad worl &) gerar g
Options :

1. % dhad |

2. % Had II

3. % [ qUTII M

4.« ATBIIATBII

Question Number : 53 Question Id : 92775912843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct pair of position of the object — position of the image — size of image in a concave mirror?
I. At infinity — at focus — highly diminished

II. At C — At C — enlarged

III. At focus — At infinity — highly enlarged

Options :

1. # Tand II
2. % Il and IIT
3.% Tand III
4. % Only III

Question Number : 53 Question Id : 92775912843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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L. 3Fd TR - B R - HIYH BIel
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Options :

1. % 14Ul

2. % IIdYTI
3. [ dUTIII

4. % Had 111

Question Number : 54 Question Id : 92775912844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was proposed by J.J. Thompson?

I. Atom consists of a positively charges sphere.

II. Electrons revolve around the positively charged sphere.
II1. The negative and positive charges are equal in magnitude.

Options :

1. ® Tand II

2. % Il and III
3.9 Tand III

4. # [, 1I and III

Question Number : 54 Question Id : 92775912844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad & ¥ o1 91 9.9 eTAa- gRT U=dTiad foam mam 41
1. URHTY] ¢ SMTafRId Mdl & S 8 2 |

1. AT YR TS & TRY 3R T T B |

111, FUTHP 3R YT A GRATI A A B & |
Options :

1. % 1dUTII

2. % [ AUTII




3.9 [ dUTIII
4, % 111 dYTIII

Question Number : 55 Question Id : 92775912845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The tropic of cancer lies at

Options :

1. % 66(1/2)'N

2. ¥ 23(12)'N

3. % 66(12)°S

4. % 23(12)’S

Question Number : 55 Question Id : 92775912845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHE W IRIgI

Options :

1. % 66(12)'3

2. ¥ 23(12)'3

3. % 66(12)°Q

4. % 23(12)°G

Question Number : 56 Question Id : 92775912846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are examples of Metallic minerals?
L. Iron Ore
II. Bauxite

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 56 Question Id : 92775912846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & & o a1 Ui @i BT IaTeRur 32
1. dlg 3

[IRCICNIET

Options :

1. % had

2. % DHad I

3. 1qUT I Ml

4. % GG

Question Number : 57 Question Id : 92775912847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the example of Intrusive Igneous Rock?
I. Granite
II. Basalt

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 57 Question Id : 92775912847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad & A o1 a1 siddd) 3 A BT ISR B2



IREIE
1. §9Tee

Options :

1. ¢ $Had |

2. % Had Il

3. % [ QYT
4. % qEIIATR I

Question Number : 58 Question Id : 92775912848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following country of Asia has large iron ore deposits?
I. India
I1. Bangladesh

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 58 Question Id : 92775912848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ &9 3 TR ¢x # fawnd die s e g2
I YRd
11, ST

Options :

1. Had |

2. % Had II

3. % [ qUT I
4. % qGIIATR I



Question Number : 59 Question Id : 92775912849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who did the Partition of Bengal?
Options :

1. ¥ Viceroy Curzon

2. % Viceroy Mountabatten

3. # Viceroy Canning

4. ¥ Viceroy Cornwallis

Question Number : 59 Question Id : 92775912849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§ITe T faHTo fobert fobam w2

Options :

1. ¢ TR Hoi

2. % ORI ATSeded
3. % JRIRRT ST

4. % JROERTT HI—dTerd

Question Number : 60 Question Id : 92775912850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the first cotton mill was setup in India?
Options :

1. ¥ Bombay

2. % Bengal

3. ¥ Madras

4. ¥ Punjab

Question Number : 60 Question Id : 92775912850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HRA H Ugal geit pusT fid el wifud gg o
Options :

1. ¥ 9IS

2. ® g

3. % Hgl¥

4. % UOIg

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :

General Awareness2

4
927759496
0

0

No

No

0

20

No

General Awareness2

927759532
1

Online
Mandatory
20

20

20

Yes

1
927759661



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 92775912851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following were the rulers of Maurya Dynasty?
I. Chandragupta

II. Bindusara

II1. Prithiviraj

Options :

1.¥ TandII

2. % Iland III
3. % land III

4. % [, 1l and III

Question Number : 61 Question Id : 92775912851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 oF 91 9% & e A2
L. IS

11. feigary
111. QRIS

Options :

1.« 1dYUT Il

2. % IIdYTIII
3. % TdYT I
4, % 1, 11 dYT 11

Question Number : 62 Question Id : 92775912852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year Civil Disobedience Movement was relaunched in India?
Options :



1. ¥ 1932
2. %1930
3. % 1927
4. % 1941

Question Number : 62 Question Id : 92775912852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd H forg 98 H Fid=a 3fasT sfigiar g: YR foam ar um
Options :

1. ¥ 1932

2. %1930

3. % 1927

4. % 1941

Question Number : 63 Question Id : 92775912853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Magadha is correct?
I. Magadha had two powerful rulers Bimbisara and Ajatashatru.
II. Rajagriha was the capital of Magadha for several years.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 63 Question Id : 92775912853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty & Jeo § fFAufafed § § o9 91 Hy= 9g! |2
1. fAffER 3R ey 771y & & wifdd=med e 31



I1. ISR &3 auf aob 7Y Bt ot At
Options :

1. % FHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 64 Question Id : 92775912854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
International Monetary Fund has its headquarters in
Options :

1. % London

2. ¥ Washington D.C.

3. ¥ Rome

4. % Geneva

Question Number : 64 Question Id : 92775912854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS el HIY BT HEATT AR
Options :

1. ® ded

2. ¢ qIfRATe S,

3. % A

4. % fHaT

Question Number : 65 Question Id : 92775912855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not one of the recipients of Padma Bhushan Award 2021?



Options :

1. % Bombay Jayashri

2. ¥ Ekta Kapoor

3. # Dilip Kumar Singh
4. # Krishna Mohan Pathi

Question Number : 65 Question Id : 92775912855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed & I &I U1 YN0 REBR 2021 & WTdhd J 9 Th a1 82
Options :

1. % §iE St

2. ¥ Uhdl hUR

3. % oo paR g

4. % S g urt

Question Number : 66 Question Id : 92775912856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book ‘The Unquiet River: A Biography of the Brahmaputra’?
Options :

1. # Elif Shafak

2. % Ramachandra Guha

3. ¥ Arupjyoti Saikia

4. % Arundhati Roy

Question Number : 66 Question Id : 92775912856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& sTSe RaR: 3f ITUTHT 3 € ST fhdid & age B &2

Options :




1. % T UHBTh

2. % MG BT

3. ¢ 3BUSHIfa Tfar
4. % I¥pYI AT

Question Number : 67 Question Id : 92775912857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of India’s first 3-D smart traffic signal system?
Options :

1. # Smartraffic

2. % Lightraffic

3. % Intelights

4. % SmartSignal

Question Number : 67 Question Id : 92775912857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR &1 Ugalt 3-S1 W1E fthes Ria yormedt o1 =13 Fm 82
Options :

1. # Smartraffic

2. % Lightraffic

3. ¥ Intelights

4. #% SmartSignal

Question Number : 68 Question Id : 92775912858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which former Indian cricket personality has become the first woman match referee to oversee a men’s ODI?
Options :

1. ¥ G S Lakshmi



2. * Shobha Pandit
3. % Sujata Sridhar
4. % Arundhati Ghosh

Question Number : 68 Question Id : 92775912858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore gd YR frdhe safaa 3 oW 393 &1 3| - dTall ugat Afed Hd Xht & 718 87
Options :

1. ¢ Sft. T, e

2. % QYT URSA

3. % FoIrdl 4R

4. % 3r5Yfd Uy

Question Number : 69 Question Id : 92775912859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the Nobel Prize for Literature 2020?
Options :

1. ¥ Louise Gliick

2. % Abiy Ahmed Ali

3. # William G. Kaelin

4. ¥ Gregg L. Semenza

Question Number : 69 Question Id : 92775912859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & foIE 2020 9T RIGR fHaA Siiar g2

Options :

1Y QU D
2. % 3fdl 3fgHg 3Mal



3. % faform o e
4. % YN U, I

Question Number : 70 Question Id : 92775912860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been voted BBC Sports Personality of the Year 20207
Options :

1. ¥ Lewis Hamilton

2. % Dina Asher-Smith

3. # Virat Kohli

4. # Ben Stokes

Question Number : 70 Question Id : 92775912860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a¥ 2020 BT &t . WG RS PR g mar g
Options :

1. ¢ 9 gifeed

2. % ST 3RR-fY

3. % foRTe Pl

4, % oI

Question Number : 71 Question Id : 92775912861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has released the Global Forest Goals Report 2021?
Options :

1. % UNICEF

2. % UN DESA

3. % UNESCO



4. % UNSC

Question Number : 71 Question Id : 92775912861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BRI e RUIE 2021 $i g Rt e g2
Options :

1. % UNICEF

2. % UN DESA

3. % UNESCO

4. % UNSC

Question Number : 72 Question Id : 92775912862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state government will set up India’s first International Women’s Trade Centre, in consonance with the United Nations sustainable
development goals?

Options :

1. ¥ Kerala

2. % Mabharashtra

3. ¥ Gujarat

4. % Madhya Pradesh

Question Number : 72 Question Id : 92775912862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI Ul T WRBR TG Y & Jd [9hT A&l & SFIEY HRT BT Ugell RIS ARGl ATIR dr R S
Options :

1. ¢ I

2. % HGRTY

3. % TORIT

4. % QLY




Question Number : 73 Question Id : 92775912863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with Protection of life and personal liberty?
Options :

1. ¥ 21

2. %20

3. % 22

4. % 23

Question Number : 73 Question Id : 92775912863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT TG 7 b1 T STde U0 3R SR Tciaia P TR&M0 J Gaiferd 82
Options :

1. ¥ 21

2. %20

3.% 22

4, % 23

Question Number : 74 Question Id : 92775912864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following subjects are mentioned in the Union list of the Indian constitution?
I. War and Peace

II. Extradition

II1. Railways

Options :

1. # TIand II
2. % Il and III
3. % land III



4.+ 1,11 and TIT

Question Number : 74 Question Id : 92775912864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ o9 3 fawal &1 9ufa yRd dfeum o a5 82
1. G 3R M

L. JYuT

111 X

Options :

.= Iddl

2. % IIdYTII
3. % [ ddT I
4,9 1, 11 dYTIII

Question Number : 75 Question Id : 92775912865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state legislature has two houses?
I. Maharashtra
II. Kerala

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 75 Question Id : 92775912865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifad 7 3 o1 3 Tl & faur Hed # @ 9e 82
. HEIRTY



1. Bd
Options :

1. ¥ Hadl

2. % Had Il

3. % [qUT el
4. % 1B

Question Number : 76 Question Id : 92775912866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Through which constitutional amendment part IX was inserted in the Indian constitution?
Options :

1. #* 44th

2. # 86th

3.9 73rd

4. % 11th

Question Number : 76 Question Id : 92775912866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for g HdeTTes TRMEH & GRT YT IX P YR fde & sraedffa forar mar am
Options :

1. # 444d]

2. % 86dl

3.9 73d]

4. % 11dl

Question Number : 77 Question Id : 92775912867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Article of the Indian constitution deals with Proclamation of Emergency.



Options :
1. * 354
2.9 352
3. % 357
4. % 356

Question Number : 77 Question Id : 92775912867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRTT HIU™ &1 /g 3{TUTd 1 IGITON & Haferd 3
Options :

1. # 354

2. ¥ 352

3. % 357

4. = 356

Question Number : 78 Question Id : 92775912868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramkumar Ramanathan is associated with which sport?
Options :

1. #* Hockey

2. ¥ Tennis

3. % Table Tennis

4. #* Wrestling

Question Number : 78 Question Id : 92775912868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AGHR AT fohd T § waifd /7
Options :

1. % git



2. ¢ g
3. % ¢qd o
4. % Dl

Question Number : 79 Question Id : 92775912869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Player from which country was awarded with the player of the tournament award in ICC Under19 Cricket World Cup 2020?
Options :

1. ¥ Afghanistan

2. % Bangladesh

3. ¥ West Indies

4. ¥ India

Question Number : 79 Question Id : 92775912869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

33 .3 3fSR 19 fobdbe fay HU 2020 T fhd <=1 & RIATST DI R 3T &l gATHC BT RIBR faam 11 U2
Options :

1. % SO

2. % FIACH

3. % qSS

4.« YRd

Question Number : 80 Question Id : 92775912870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the FIH Women’s World Cup 2018?
Options :

1. # Ireland

2. # Australia



3. ¥ Netherlands
4. * Spain

Question Number : 80 Question Id : 92775912870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, 3173 U9, Higal fay U 2018 fasga sitar
Options :
1. % 3RS
2. % 3fiecfer
3. ¢ Heaxds
4, % WA
Arithmetic Abilityl
Group Number : 5
Group Id : 927759497
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Abilityl
Section Id : 927759533
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759662
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 92775912871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (550 + 950 + 375 + 225) + (34 + 26 — K) = 70, then what is the value of K?
Options :

1. % 90

2. % 60

3.9 30

4. % 15

Question Number : 81 Question Id : 92775912871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i (550 + 950 + 375 + 225) = (34 + 26 — K) = 70 &, Al K T HH T 82
Options :

1. * 90

2. % 60

3.9 30

4. % 15

Question Number : 82 Question Id : 92775912872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two numbers are in the ratio of 4:5 and their Highest Common Factor is 7. What will be their Least Common Multiple?



Options :
1. * 280
2. ¥ 140
3. % 70

4. % 120

Question Number : 82 Question Id : 92775912872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =T 4: 5 % SIATd | § SR 01 HedH YHUGA® 7 g 31T AYTH JHTIIY 1 GRTT?
Options :

1. % 280

2.+ 140

3. % 70

4. % 120

Question Number : 83 Question Id : 92775912873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of two numbers is 90 and their difference is 1/9 of their sum. What is the Least Common Multiple of these two numbers?
Options :

1. ¥ 200

2. % 400

3. % 100

4. % 250

Question Number : 83 Question Id : 92775912873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l =TS BT AN 90 B 3R SHT 3R 31 AT BT 1/9 8 | 37 &l TS BT AYTH FHITY HT 62
Options :

1. ¥ 200




2. % 400
3. % 100
4. % 250

Question Number : 84 Question Id : 92775912874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K is that largest three digit number which when divided by 12,18 and 20 leaves remainder 7 in each case. What is the sum of digits of K?
Options :

1.*9

2.¥ 16

3.% 12

4. % 15

Question Number : 84 Question Id : 92775912874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K I8 dI7 3ieh) 1 Ted ore) ST RO 12,18 T 20 A TIHTRIG b o IR Udies T & Quther 7 U 81T 8] K & 3ieh! b1 1T a1 82
Options :

1. %9

2.9 16

3.% 12

4. % 15

Question Number : 85 Question Id : 92775912875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?



o T A LS
10 5 5 10

1 1 1 1 4

12 " 20 " 30 42 2]

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ® Neither I nor I

Question Number : 85 Question Id : 92775912875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & ¥ o9 91 Hy= I8l 82

o T A LS
10 5 5 10

1 1 1 1 4

1.
12 20 30 42 21

Options :

1. % Had 1
2. % HAd I
3. [ QYT I gl
4. % I

Question Number : 86 Question Id : 92775912876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the average of all the prime numbers before 24?



Options :
1. * 12.21
2.¥ 11.11
3. % 13.28
4. % 1642

Question Number : 86 Question Id : 92775912876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24 % qd gt 31U =TSl T Sfid o g
Options :

1. % 12.21

2.9 11.11

3. % 13.28

4. % 16.42

Question Number : 87 Question Id : 92775912877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If two successive discounts of 10 percent and 5 percent are given, then what will be the ratio of marked price to selling price?
Options :

1. # 50/41

2.9 200/171

3. % 200/183

4. % 171/200

Question Number : 87 Question Id : 92775912877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 10 TR T 5 UF=Td Bt &l it ge < Sl &, a1 3ifdd Jour &1 faoha T ¥ &1 3urd 31
Options :

1. # 50/41




2.9 200/171
3. % 200/183
4. % 171/200

Question Number : 88 Question Id : 92775912878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 10 numbers is 46. The average of first four numbers is 45.25 and the average of next three numbers is 53. If the 8th number is 6 and 3
more than 9th and 10th number respectively, then what is the value of 10th number?

Options :
1. % 35
2. %29
3. % 47
4. % 40

Question Number : 88 Question Id : 92775912878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 T3 T 3T 46 B | TUYH IR TBAT3M BT 3T 45.25 § AUT TS - TRemaii &7 3Nd 53 g1 afe ¢ f T wasr: o dY gur 10 df
T T 6 U1 3 31w 8, Y 10 df T=T BT HHE T 82

Options :

1. % 35

2. % 29

3. % 47

4. ¥ 40

Question Number : 89 Question Id : 92775912879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of car is Rs. 500000. Rahul buys that car at two successive discounts of 20 percent and 20 percent. If he sells the car for Rs.
450000, then what is the profit percenatge?

Options :



1. ¥ 40.62 percent
2. % 50.68 percent
3. % 45.64 percent
4. % 38.71 percent

Question Number : 89 Question Id : 92775912879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP M BT 3iford Ged 500000 T § | AGA 39 ST DT 20 UFIRIT TUT 20 UIIRT 1 &) H1HP Fel WR Wiiedl g1 S I8 TS BT 450000
SO0 B §9 a1 g, a ary fasrd Fn g

Options :

1. ¢ 40.62 Ufa=rd
2. % 50.68 Ufa=Id
3. % 45.64 Ufa=Id
4. % 38.71 Ufdwrd

Question Number : 90 Question Id : 92775912880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On decreasing the price of a chair by 20 percent, its sales increases by 20 percent. What will be the percentage decrease in its revenue?
Options :

1. # 0 percent decrease

2. ¥ 4 percent decrease

3. % 8 percent decrease

4. # 10 percent decrease

Question Number : 90 Question Id : 92775912880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U & T BT 20 TR T HH B TR ITD! [95h1 20 YT T T¢ St & | 3 Irored H - Ufa=rd B B grit?

Options :



1. % o gfazrd st
2. ¢ 4 gfa=rd At
3. % g Uferd ®Ht
4. % 10 gfard HH!

Question Number : 91 Question Id : 92775912881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office, 30 percent of the total employees are female. 60 percent of the female employees are married and 50 percent of the male employees
are married. Unmarried employees are what percentage of the total employees in office?

Options :

1. % 53 percent
2. % 45 percent
3. ¥ 47 percent
4. % 43 percent

Question Number : 91 Question Id : 92775912881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HEfad H, o HHATRE! Bt 30 TA=d AR 8 | 60 Ufa<id Afge HHAR! fadried g 9T 50 Ufa=d Uos SHaR] [daifed g | wrafad
A 3ffgaried HHAR! Fd HHARG! & foa- ufad g2

Options :

1. % 53 gfa=rd

2. % 45 gfa=rd

3. ¢ 47 Yfard

4. % 43 gfazrd

Question Number : 92 Question Id : 92775912882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is true?
I. A is 20 percent more than B. B is 10 percent less than C. C is 5 percent more than D. If the value of D is 500, then the value of A is 567.



II. A number is first increased by 10 percent. Then it is decreased by 10 percent. Then it is increased by 10 percent. The net change in the value
of the number is 10 percent increase.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 92 Question Id : 92775912882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead 7 @ o 91wy I8t 82

L A, BI20Ufdwd e 1B, CH 10 UGG HATI €, D T 5 Ufdwrd 31f¥e g1 afe D ST HM 500 B, @ A BT HME 567 BT

11, U =T b1 Ugd 10 Ufa<d § Seran a1 g | fhr I 10 ufawra ¥ &4 fear man g1 bR 39 10 ufawra @ dgrin a1 g | I & A |
fYad sgamE 10 ufawd gfs B

Options :

1. ¥ FHad |

2. % Had Il

3. % [ UGl
4. % qIGIIATRIII

Question Number : 93 Question Id : 92775912883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a election between two candidates, 16 percent of the voters did not cast their votes. 5145 voters cast their ballot paper blank. Winner got 60
percent of the total valid votes and defeated the other contestant by 3087 votes. What is the total number of voters on the voter list?

Options :

1. % 22600
2. % 21800
3. % 26400
4. ¥ 24500



Question Number : 93 Question Id : 92775912883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l SHIGAR] & &g U U 919 H, 16 UTI=Id Adardrstt = SO 7d 6] fedT| 5145 AAGIT 301 AU W1 818 &d g | fofd- ara &1
Y Tl & 60 TFIIT HQ TUT I/ AR DI 3087 Al A 0TI AT Y & Hdt fbad A g2

Options :

1. % 22600

2. % 21800

3. % 26400

4.+ 24500

Question Number : 94 Question Id : 92775912884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 percent more profit is earned by selling a dog for Rs. 12000 instead of selling it for Rs. 11500. What is the cost price of the dog?
Options :

1. ® Rs. 1000

2. % Rs. 5000

3. % Rs. 8000

4. ¥ Rs. 10000

Question Number : 94 Question Id : 92775912884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Il 1 11500 39T T 9T B FOIT 12000 T0 T 2 WR 5 WA= S1fie ATH HHIET ST 8 T &1 Hd Hed F1 82
Options :

1. % 1000 3T

2. % 5000 TYY

3. % 8000 ¥UY

4. ¥ 10000 ST

Question Number : 95 Question Id : 92775912885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct?

I. A person sold two articles at the rate of Rs. 1600 each. If he had earned a profit of 15 percent on the first article and suffered a loss of 15
percent on the second article, then he had suffered an overall loss of 2.25 percent.

I1. If cost price of 16 articles is same as the selling price of 24 articles, then the profit percentage is 33.33 percent.(Selling price of all articles is
same and cost price of all articles is same)

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither [ nor II

Question Number : 95 Question Id : 92775912885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeEad § 319 a1 By I el 82

1. U dHfad 7 1600 ¥ Ufd 1 & U &l a%q¢ o | IS 39 Ugall avg W 15 Uf=Id &1 A1 34T § 3R guRl a¥d WR 15 Ua=Id &1 g1 g8
g, A1 S 2.25 UA=Id &1 Bl BT &2 &

I1. A 16 T3 BT 5T T 24 IXGS & 19060 T & THM &, O a1y Ufa=id 33.33 §1 (Tt a3 &1 fasha Joa 9o § aun it awgsh
B HT Yoo THH

Options :

1. % Had

2. ¢ HAd I

3. % [ QYT

4. % qEIIATR I

Question Number : 96 Question Id : 92775912886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of 15 kg tomato is same as the price of 3 kg potato. Price of 16 kg potato is same as the price of 12 kg carrot. Price of 24 kg carrot is same
as the price of 30 kg onion. If price of 8 kg onion is Rs. 80, then what is the price of 48 kg tomato?

Options :



1. ¥ Rs.90

2. % Rs. 80
3. % Rs. 100
4. % Rs. 50

Question Number : 96 Question Id : 92775912886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 5. 71, THTCR &1 B 3 b 70, S B H1Ad & THH § | 16 6.1, ST ! S 12 5.3, TR &1 S & THH o | 24 .31 TR
P 30 {51, TS &1 H1Ad & JHM g1 Tl ¢ oo 71, Tl Y HIAd 80 U, A 48 fob U1, eHIeR 1 HIHd R 72

Options :

1. ¢ 90 ¥0Y
2. % 803Uy
3. % 100 %09
4. % 50307

Question Number : 97 Question Id : 92775912887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of two numbers is 5 : 7 and their difference is 42. What will be the smaller number among both the numbers?
Options :

1. # 147

2.9 105

3. % 42

4. % 110

Question Number : 97 Question Id : 92775912887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l TS BT ST 5 ¢ 7§ AT IBT 3R 42 g | 1 Temafi H T Bt e 1 ght?

Options :



1. * 147
2.9 105
3. % 42
4. % 110

Question Number : 98 Question Id : 92775912888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D, E and F hired a car for Rs. 7200. D used it for 8 hours, E for 6 hours and F used it for 4 hours. What will be the E’s share in rent?
Options :

1. # Rs. 3200

2. ¥ Rs. 2400

3. # Rs. 1600

4. # Rs. 2000

Question Number : 98 Question Id : 92775912888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D, E dUTF Th ®R BI 7200 U H fHI0 TR A 81 D 7 IS YINT 8 °e fHaT, E 7 6 9 TUTF A ITHT YANT 4 G fhan| fH@ o E &1
fe<ar & gie

Options :

1. % 3200 30

2. ¥ 2400 TYY

3. % 1600 3UY

4. % 2000 30

Question Number : 99 Question Id : 92775912889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of a diamond is directly proportional to square of its weight. A man broke the diamond accidently in three pieces in the ratio of 3 : 4 : 6 and
thus loses Rs. 23760. What was the original price of the diamond?

Options :



1. * Rs. 36220
2. ¥ Rs. 37180
3. ¥ Rs. 39160
4. % Rs. 38280

Question Number : 99 Question Id : 92775912889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 8RBT Yo SUb HR & a1 BT SFIHHU § | U fad I TTed! O T8 g1 i gabel H 3 : 4 : 6 % 3IATd H ¢e 7T 3R 39 Jolg ¥
I 23760 ¥UY BI BT §5 | TR BT ARddd Yoo ol UT?

Options :

1. % 36220 304

2. ¥ 37180 30

3. % 39160 0

4. % 38280 3UY

Question Number : 100 Question Id : 92775912890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q and R enter into a partnership. Which of the following is correct?

I. P invests Rs. 20000 for 1 year. Q invests Rs. 30000 for 8 months. R invests Rs. 25000 for 6 months. If at the end of year the profit is Rs. 4200,
then the share of Q is Rs. 1500.

II. P, Q and R invests same amount for 8 months, 12 months and 4 months respectively. The profit at end of year is Rs. 36000. The sum of shares
of P and Q is Rs. 18000.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 100 Question Id : 92775912890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

P, Q dUTR UFH TR d & | Fufafea & @ &9 a1 ggt 32

L. P, 1 99 & oW 20000 U8 AT HRATR 1 Q, 8 A & T 30000 TTY FAA HIAT B | R, 6 AR & T 25000 ST fAaxr e g1 afe oy
& 3 HATH 4200 FUT B, A Q T f8TT 1500 ST B |

I1. P, Q TUT R A =M B HHRT: § ASH, 12 A dUT 4 He 4 o forg o axd g1 98 & ofd T @14 36000 YT B | P TUT Q T Hd g

18000 ST B |
Options :

1. % $Had 1

2. % Had Il

3. % [ QYT gHl
4. GBI
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Question Number : 101 Question Id : 92775912891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple interest earned is 1/36 of the principal. The number of years is equal to the annual rate of interest. What is the annual rate of interest?
Options :

1. # 16.66 percent

2. * 2.77 percent

3. # 27.77 percent

4. ¥ 1.66 percent

Question Number : 101 Question Id : 92775912891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HUTIT T ATRUT TS, HAYH BT 1/36 8| I8 Bt T, STl B! Al &R & SRI6R ¢ | TS $I I &R 1 87
Options :

1. % 16.66 Ufa=Id
2. % 277 yfa=rd
3. % 2777 gfa=rd
4. ¥ 1.66 Ufa=rd

Question Number : 102 Question Id : 92775912892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. A sum of money becomes 7 times of itself in 20 years at the rate of 30 percent per annum on simple interest.
II. A sum of money becomes 3 times of itself in 8 years at the rate of 25 percent per annum on simple interest.

Options :



1. % Only I

2. % Only II

3.4 BothIand II
4. #® Neither I nor II

Question Number : 102 Question Id : 92775912892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed & I DI 91 S I8! 52
1. TTYTROT STST TR 30 U= Ui I &t X § 20 a8 # U 1R Wd &1 7 A1 81 Sl ¢ |
I1. TR &S TR 25 W=Td Ui 98 &1 &R 9 8 a1 & Ueb X121 %94 B1 3 AT 81 offell 6|

Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 103 Question Id : 92775912893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 13986 is divided among A and B. A and B will receive compound interest (compounding anually) on the respective sums they got,
at the annual rate of 10 percent.Total amount to be received by A at the end of 12 years will be same as the total amount to be received by B at
the end of 15 years. What sum was received by A out of the sum of Rs. 139867

Options :

1. # Rs. 6000
2. ¥ Rs. 7986
3. ¥ Rs. 9986
4. % Rs. 4000

Question Number : 103 Question Id : 92775912893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



13986 ¥ B T AR DI A 3R B H AU fhan T 81 A 3R B B 371 GRT WK 1 T SHHRT: JIRAT TR 10 UTA=Id &1 aifitids ax 4
Th g SISl (AT TTIo ) T SR | 12 T o 3fd T A GRT UK &1 S aTell $df YRIT, 15 a9 & 3fd H B gRT UG &1 S aTel! &l
YFRIIRT & THH B 7T 13986 ¥UY B AT T H A GRT favai1 AT WTed b1 1t o

Options :

1. % 6000 7Y
2. ¥ 7986 TYY
3. % 9986 TUY
4. % 4000 3T

Question Number : 104 Question Id : 92775912894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vishal covers a distance of 450 metres in 15 seconds. What is the speed of Vishal?
Options :

1. % 108 km/hr

2. % 90 km/hr

3. % 30 km/hr

4. % 72 km/hr

Question Number : 104 Question Id : 92775912894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI 450 TR BT TH G DI 15 YHUS T 7 Bl ¢ | [a=mat &1 i Fan g2
Options :

1. ¢ 108 fob #it /der

2. % 90 b #t /dieT

3. % 30 fob it /ddeT

4. % 72 fp H der

Question Number : 105 Question Id : 92775912895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Two trains of length 340 metres and 540 metres are moving towards each other with the speed of 54 km/hr and 90 km/hr respectively. In how
much will the train cross each other?

Options :

1. % 24 seconds
2. % 22 seconds
3. % 28 seconds
4. % 32 seconds

Question Number : 105 Question Id : 92775912895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

340 Hiex qUT 540 HieR TS aTel f IATSAT HHR: 54 fob Y. /et T 90 o 7. /der &t 71fd T U QIR &1 3R Id W&l § | @Sl U
R B fobd IHY § UR Y vl

Options :

1. % 24 9HUS

2. ¢ 22 AHUS

3. % 23 YPUS

4. % 32 AHUS

Question Number : 106 Question Id : 92775912896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

L. If speed of boat in upstream and downstream is 20 km/hr and 50 km/hr respectively, then the speed of stream is 35 km/hr.

II. Two trains of length 540 meters and x meters are moving in same directions. There speeds are 227 km/hr and 65 km/hr respectively. If the
faster train can cross the slower train in 24 seconds, then the value of x is 540.

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II



Question Number : 106 Question Id : 92775912896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea § § oF a1 sy I8 82

1. UfE T 19 &1 TIfd YRT &b Ufdpel quT 4RI & Sifha sHHRT: 20 b, 7Y /der aut so fb . /der 3, df urT &t 71fd 35 fop.#t der g1

1. 540 Hiex qUT x Hiex TS aTell ot Yarmfsar ram foxn § I 381 8 | S9! Tifcar seaen: 227 fob /it et aur 65 6 /Y der 31 afe o
YS! e YeS) ot 24 Yobs W IR B Adhl ©, df x BT HM 540 B

Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. ® A A

Question Number : 107 Question Id : 92775912897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 40 women can do a work in 3 days, then 30 women can do the same work in how many days?
Options :

1. ¥ 4 days

2. % 5 days

3. % 3 days

4. % 2 days

Question Number : 107 Question Id : 92775912897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe 40 AT TP B 1 3 &A1 H P Fabell &, A1 30 AGATT I BT B fova faeAl T R Tl 52
Options :

1. ¥ 4fea

2. % sfed

3. % 318



4. % 2 feq

Question Number : 108 Question Id : 92775912898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Time taken by A alone to do a work is 12 hours more than the time taken by A and B together to do the same work. Time taken by B alone to do
the same work is 27 hours more than the time taken by A and B together to do the same work. In how much time A and B together can do this
work?

Options :

1. # 15 hours
2. % 20 hours
3. % 18 hours
4. % 24 hours

Question Number : 108 Question Id : 92775912898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A R 3hd Th BT bl B4 H o/ 71 HT, A TUT B gRT i I B bl i H ot T8 9 9 12 9 31fe g1 B gRT 3fdbd 341
BT P B3 H foran a1 gHy, A 9UT B gRT e I8 &1 &1 B3 § fie T8 gwg 9 27 9 3if¥e 31 A 9uT B fiaes 39 ord ) fvan
70§ R gohd g2

Options :

1. % 159¢

2. % 20€e

3.4 18°4¢

4. % 24¢

Question Number : 109 Question Id : 92775912899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inlet pipe A is 9 times faster than Inlet pipe B and takes 80 minutes less than the Inlet pipe B to fill a cistern alone. If both the pipes are opened
together, then in how much time the cistern will get completely filled?

Options :



1. ¥ 9 minutes
2. % & minutes
3. # 10 minutes

4. % 7 minutes

Question Number : 109 Question Id : 92775912899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAfRTehT U3 A, TafRIeT Uigd B ¥ 9 AT e 8 3R Th Tl I 3fdhal HRA & e YafRresT Uz B § 80 fiFe &1 qar |1 afe g urgal &t
TS 1Y Wi a1 ST ], <l <ot foha va § Ot R ¥ R St

Options :

1.+ 9 fi e

2. % g fie

3. % 10 e

4. % 71 e

Question Number : 110 Question Id : 92775912900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Total wages received by 60 women for working 30 days is Rs. 5625. If the daily wage of a man is double of the daily wage of a woman, then
how many men will have to work to earn Rs. 2250 in 15 days?

Options :

1. # 25 men
2. ¥ 24 men
3. % 20 men

4. % 26 men

Question Number : 110 Question Id : 92775912900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 f BTH A & T 60 A3 R UIed BT TR pel Aot 5625 ¥UA g | UM Ueb T2 b &f1eb Helg! Ueh Higell B afieb Holg] bl
S R, A 15 31 & 2250 ST HHM B T b GoW &1 BTH BRAT G




Options :

1. ® 25=Y
2. ¥ 24 Y
3. ¥ 200Y
4. % 26 =Y

Question Number : 111 Question Id : 92775912901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of a circular cone is 4 cm. The slant height of the cone is 3 cm more than its radius. What is the curved surface area of the cone?
Options :

1. ¢ 88 cm?

2. % 105 cm?

3. % 66 cm?

4, % 128 cm?

Question Number : 111 Question Id : 92775912901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JATHR P B! Bsar 4 T, g1 WP o1 fades Sars Sue! B 3 .. 34f6 || P &1 asb Y¥ig 8hd 1 82
Options :

1. ¢ 88 T HI 2

2. % 105 9 HI 2

3. % 66912

4. % 128 9 HI2

Question Number : 112 Question Id : 92775912902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?
I. The side of a rhombus is 13 metre. If one of its diagonal is 24 metre. Area of thombus is 120 metre?.



II. If the areas of the three adjacent faces of a cuboidal box are 120 cm square, 72 cm square and 60 cm square respectively, then the volume of
the box is 720 cm?.

Options :

1. % Only I

2. % Only IT

3. % Both I and I

4. % Neither I nor II

Question Number : 112 Question Id : 92775912902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # ¥ o 91 Hy= 98t 82

1. & Ay & Yol 13 Hiex g1 afe 391 T a0 24 Wex § | THAgHS &1 8% 120 Hex2 5

11 af¢ T TATHT 968 B fiF @ Bas! & 8% d HHT: 120 I A, 72 ¥ .. aUT 60 I ). 7, O I BT 3a 720 F.H 3 B
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 113 Question Id : 92775912903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. A cone and cylinder are of the same height, Their radii of their base are in ratio of 2 : 1. The ratio of their volume is 4 : 3.
II. If the sum of the length, breadth and height of a cuboid is 24 cm and the length of the longest rod that can be placed in the cuboid is 15 cm,

then its total surface area is 256 cm?.
Options :

1. % Only I

2. % Only I

3. # BothIand II

4. # Neither I nor II



Question Number : 113 Question Id : 92775912903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ FHad |
2. % Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 114 Question Id : 92775912904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Height of a cylinder is double of the radius of its base. If radius of sphere is equal to the radius of cylinder, then the ratio of the volume of
cylinder and sphere is 3 : 2 respectively.

II. If the perimeter of a semi-circle is 72 cm, then the area of semi-circle is 308 cm?.
Options :

1. # OnlyI

2. % Only I

3. % Both I and I

4. # Neither I nor II

Question Number : 114 Question Id : 92775912904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 115 Question Id : 92775912905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of houses in 6 cities. Number of houses are shown as a percentage of total number of houses in
these 6 cities.

Number of houses in R are 432. What are the total number of houses in these 6 cities?
Options :
1. % 4200
2. % 3600
3. % 4400
4. % 3800

Question Number : 115 Question Id : 92775912905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 4200
2. ¥ 3600
3. % 4400
4. % 3800

Question Number : 116 Question Id : 92775912906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of coolers available in 7 shops.



Shops | Number of coolers
J 118
K 97
L 34
M 58
N 109
P 124
Q 144
What are the average number of coolers per shop?
Options :
1.+ 97.71
2. % 9923
3. % 8943
4. % 87.76

Question Number : 116 Question Id : 92775912906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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J 118
K 97
L 34
M 58
N 109
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Q 144
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Options :
1. ¥ 97.71
2. % 9923
3. % 89.43
4. % 87.76

Question Number : 117 Question Id : 92775912907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the marks obtained by three girls in five examinations. Maximum marks of each examination are 200.



. Girls
Examinations

a1 G2 33
El 160 94 36
E2 120 180 48
E3 80 140 92
E4 180 88 110
E5 164 120 140

Which of the following statement is correct?

I. Marks obtained by G2 in E3 are 70 percent of maximum marks

II. Sum of marks obtained by G1 in E4, G3 in ES and G2 in E2 is 500

I11. Ratio of marks obtained by G3 in E2 to the marks obtained by G1 in ES is 12 : 41

Options :

1. * OnlyI

2. % Both I and III
3. % Both II and III
4. % I, 11 and III

Question Number : 117 Question Id : 92775912907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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a1 G2 (33
El 160 94 36
E2 120 180 48
E3 30 140 92
E4 180 S8 110
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Options :

1. % FHadl

2. % [ UT I Gl

3. % [[ YT Il G

4. 1,11 YT I

Question Number : 118 Question Id : 92775912908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of pages in 7 books. Number of pages are shown as a percentage of total number of pages in these 7
books.



B4
16%o

B3
10%

Which of the following is/are incorrect?

Options :

1. # If total number of pages in these 7 books are 1800, then the number of pages in B3 are 270
2. # Ratio of number of pages in B7 to the number of pages in B4 is 17 : 16

3. % Difference between the central angles formed by B4 and B2 is 7.2 degrees

4. ¥ Number of pages in B1 are 80 percent less than the number of pages in B6

Question Number : 118 Question Id : 92775912908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T 377 Tae! # UBI &1 o TAT 1800 &, a1 B3 T GBI B AWAT 270 §
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Question Number : 119 Question Id : 92775912909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of cars parked in 6 parking areas.



300
250 - 220
200 -
150 - 145

100 1 70 A
5{1-|_| H
"+ S I (U 55 NS BN L

Pl P2 P3 P4 P5 P6

Number of cars parked in P5 are what percentage less than, the number of cars parked in P4?
Options :

1. % 20.45 percent

2. ¥ 16.98 percent

3. ® 22.38 percent

4. ® 18.68 percent

Question Number : 119 Question Id : 92775912909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 20.45 gfa=rd

2. ¥ 16.98 Ufa=Id

3. % 2238 gfa=rd

4. % 18.68 Ufard

Question Number : 120 Question Id : 92775912910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows the number of shoes sold by 8 shopkeepers.
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J00

Which of the following statement is correct?

I. Average number of shoes sold per shopkeeper are 186.25

II. Ratio of total number of shoes sold by A and C to the total number of shoes sold by E and H is 20 : 29
II1. Number of shoes sold by B are 166.67 percent more than the number of shoes sold by E.

Options :

1. ® BothIandII
2. % 1 Il and III
3. % Only 111

4. % Both I and III

Question Number : 120 Question Id : 92775912910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1qUT I gl

2. % LI AUTII

3. ¢ Had III

4. % 1 QYT I S
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Question Number : 121 Question Id : 92775912911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
The average incubation period (1)/ for this disease (2)/is around 5 days (3)/.No error (4)

Options :
1. %1
2.% 2
3.%3
4. ¥ 4

Question Number : 121 Question Id : 92775912911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).



The average incubation period (1)/ for this disease (2)/is around 5 days (3)/.No error (4)
Options :

1. %1

2. %2

3.%3

4. ¥ 4

Question Number : 122 Question Id : 92775912912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
You might wonder how (1)/ something red can be (2)/turned to something blue (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 122 Question Id : 92775912912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
You might wonder how (1)/ something red can be (2)/turned to something blue (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 123 Question Id : 92775912913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
People who expect to (1)/be able to quit smoking (2)/is more likely to quit (3)/.No error (4)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 123 Question Id : 92775912913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
People who expect to (1)/be able to quit smoking (2)/is more likely to quit (3)/.No error (4)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 124 Question Id : 92775912914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Experience from previous pandemics in (1)/the 21st century show that people’s behaviors (2)/change over the course of the outbreak (3)/.No
error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 124 Question Id : 92775912914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Experience from previous pandemics in (1)/the 21st century show that people’s behaviors (2)/change over the course of the outbreak (3)/.No
error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 125 Question Id : 92775912915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose mo error' (choose 4).
The white light coming from your (1)/lamp contains a rainbow of colours, (2)/even that you cannot see them (3)/.No error (4)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 125 Question Id : 92775912915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose mo error' (choose 4).
The white light coming from your (1)/lamp contains a rainbow of colors, (2)/even that you cannot see them (3)/.No error (4)

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 126 Question Id : 92775912916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I noticed that (the man opposite) was walking with the help of a stick.

Options :

1. # the men opposite
2. # mans opposite
3. # the opposite man

4. ¥ No improvement

Question Number : 126 Question Id : 92775912916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I noticed that (the man opposite) was walking with the help of a stick.

Options :

1. # the men opposite
2. # mans opposite
3. # the opposite man

4. ¥ No improvement

Question Number : 127 Question Id : 92775912917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
We need to recognize (how this) workers create a large public benefit for us all.

Options :

1. # which those
2. ¥ how these
3. #* how that

4. % No improvement



Question Number : 127 Question Id : 92775912917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
We need to recognize (how this) workers create a large public benefit for us all.

Options :

1. % which those
2. ¥ how these
3. ® how that

4. ¥ No improvement

Question Number : 128 Question Id : 92775912918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I change my children’s clothes after (they has had) a hot meal and a wash.

Options :

1. ¥ they have had
2. # they had had
3. # those have

4. ¥ No improvement

Question Number : 128 Question Id : 92775912918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I change my children clothes after (they has had) a hot meal and a wash.

Options :

1. ¥ they have had
2. # they had had
3. # those have

4. ¥ No improvement



Question Number : 129 Question Id : 92775912919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
You didn't (have to break to) abandoned swimming pools.

Options :

1. # has to break into
2. # have to break at
3. % have to break into

4. ¥ No improvement

Question Number : 129 Question Id : 92775912919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
You didn't (have to break to) abandoned swimming pools.

Options :

1. # has to break into
2. # have to break at
3. % have to break into

4. ¥ No improvement

Question Number : 130 Question Id : 92775912920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I missed the plane, and the next available flight (don't leave until) tomorrow.

Options :

1. ¥ doesn’t leave until
2. % don’t leave unless
3. % doesn’t leaving until

4. ¥ No improvement



Question Number : 130 Question Id : 92775912920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I missed the plane, and the next available flight (don't leave until) tomorrow.

Options :

1. ¥ doesn’t leave until
2. ® don’t leave unless
3. #® doesn’t leaving until

4. ¥ No improvement

Question Number : 131 Question Id : 92775912921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
It is difficult to put with his tantrums.

Options :
1. ® of
2. % on
3.9 up
4. %® from

Question Number : 131 Question Id : 92775912921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
It is difficult to put with his tantrums.

Options :
1. ® of
2. % on
3.9 up
4. %® from



Question Number : 132 Question Id : 92775912922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Researchers now find a way to piece together the horse’s story.

Options :
1. ¥ must
2. # most

3. * much

4. * more

Question Number : 132 Question Id : 92775912922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Researchers now find a way to piece together the horse’s story.

Options :
1. ¥ must
2. # most

3. * much

4. * more

Question Number : 133 Question Id : 92775912923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The government can poor people to find shelter.

Options :
1. ¥ aid
2. % affect

3. # hinder



4. * perplex

Question Number : 133 Question Id : 92775912923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The government can poor people to find shelter.

Options :
1. ¥ aid
2. # affect
3. * hinder

4. * perplex

Question Number : 134 Question Id : 92775912924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Each boy and each girl playing different roles in the play.

Options :
1. * were
2. ¥ was
3. % are

4. % have

Question Number : 134 Question Id : 92775912924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Each boy and each girl playing different roles in the play.

Options :
1. # were
2. % was

3. % are



4. % have

Question Number : 135 Question Id : 92775912925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
You need to some good habits to succeed in life.

Options :

1. ® abandon
2. ¥ inculcate
3. % cease

4. % forbid

Question Number : 135 Question Id : 92775912925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Youneedto  some good habits to succeed in life.

Options :

1. ® abandon

2. % inculcate

3. % cease

4. * forbid

Question Number : 136 Question Id : 92775912926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Fluids are

P. body to

Q. for the human

R. function healthily

S. very important



Options :

1. # SRQP
2. ¥ SQPR
3. # PRQS
4. % PQRS

Question Number : 136 Question Id : 92775912926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Fluids are

P. body to

Q. for the human

R. function healthily

S. very important

Options :

1. # SRQP
2. ¥ SQPR
3. # PRQS
4. % PQRS

Question Number : 137 Question Id : 92775912927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Durga Pooja is a

P. the demon Mahishasura

Q. warrior Goddess Durga over

R. Hindu festival which celebrates

S. the victory of the

Options :

1. # QSPR

2. % RQPS

3. % RSQP



4. % SRQP

Question Number : 137 Question Id : 92775912927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Durga Pooja is a

P. the demon Mahishasura

Q. warrior Goddess Durga over

R. Hindu festival which celebrates

S. the victory of the

Options :

1. ¥ QSPR
2. % RQPS
3. ¥ RSQP
4. % SRQP

Question Number : 138 Question Id : 92775912928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
For his invaluable

P. contribution to the nation,

Q. Azad was posthumously awarded

R. honour, Bharat Ratna in 1992.

S. India's highest civilian

Options :

1. ¥ SRPQ
2. % QSPR
3. % RQPS
4. ¥ PQSR

Question Number : 138 Question Id : 92775912928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
For his invaluable

P. contribution to the nation,

Q. Azad was posthumously awarded

R. honour, Bharat Ratna in 1992.

S. India's highest civilian

Options :

1. # SRPQ
2. % QSPR
3. % RQPS
4. ¥ PQSR

Question Number : 139 Question Id : 92775912929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Gandhi fought against this unjust and cruel treatment by observing Satyagraha.

Q. One day, he was travelling in a first class compartment of a train with a valid ticket.

R. Still he was harassed and pushed out of the compartment by the white men.

S. The social life of Mahatma Gandhi started in South Africa where he faced many hurdles and was discriminated against and insulted by the
white often.

Options :

1. ¥ SQRP

2. % SRPQ

3. ¥ QSPR

4. % RQPS

Question Number : 139 Question Id : 92775912929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a

coherent paragraph.
P. Gandhi fought against this unjust and cruel treatment by observing Satyagraha.



Q. One day, he was travelling in a first class compartment of a train with a valid ticket.

R. Still he was harassed and pushed out of the compartment by the white men.

S. The social life of Mahatma Gandhi started in South Africa where he faced many hurdles and was discriminated against and insulted by the
white often.

Options :

1. ¥ SQRP
2. % SRPQ
3. % QSPR
4. % RQPS

Question Number : 140 Question Id : 92775912930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Scandal

Options :

1. # Connoisseur
2. ¥ Disgrace

3. # Deny

4. % Delay

Question Number : 140 Question Id : 92775912930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Scandal

Options :

1. # Connoisseur
2. ¥ Disgrace

3. # Deny

4. % Delay
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Question Number : 141 Question Id : 92775912931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Scholar

Options :
1. % Thistle
2. % Gauntlet



3. ¥ Expert

4, % Amateur

Question Number : 141 Question Id : 92775912931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Scholar

Options :

1. # Thistle
2. % Gauntlet
3. ¥ Expert

4, % Amateur

Question Number : 142 Question Id : 92775912932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Ghastly

Options :

1. # Shame

2. % Authority
3. % Hearten
4. % Charming

Question Number : 142 Question Id : 92775912932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Ghastly

Options :
1. # Shame



2. # Authority
3. % Hearten
4. ¥ Charming

Question Number : 143 Question Id : 92775912933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Glamorous

Options :

1. ¥ Dowdy
2. % Amiable
3. % Arrogant
4. ¥ Amicable

Question Number : 143 Question Id : 92775912933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Glamorous

Options :

1. ¥ Dowdy
2. % Amiable
3. % Arrogant
4. ¥ Amicable

Question Number : 144 Question Id : 92775912934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Periodicaly



2. % Periodicalli
3. % Periodically
4. # Perriodically

Question Number : 144 Question Id : 92775912934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Periodicaly

2. # Periodicalli

3. ¥ Periodically

4. ® Perriodically

Question Number : 145 Question Id : 92775912935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Colosal

2. % Collossal

3. % Colossal

4. % Collosal

Question Number : 145 Question Id : 92775912935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Colosal

2. % Collossal

3. % Colossal



4. % Collosal

Question Number : 146 Question Id : 92775912936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Derrogatory

2. # Derogattory

3. % Derogatary

4. ¥ Derogatory

Question Number : 146 Question Id : 92775912936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Derrogatory

2. # Derogattory

3. ® Derogatary

4. ¥ Derogatory

Question Number : 147 Question Id : 92775912937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Intriguing

2. % Intrigeuing

3. % Intrriguing

4. # Inttriguing



Question Number : 147 Question Id : 92775912937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Intriguing

2. % Intrigeuing

3. % Intrriguing

4. # Inttriguing

Question Number : 148 Question Id : 92775912938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A man of letters

Options :

1. % A poet

2. ¥ Proficient in literary art

3. # Good debating skills

4. ¥ Man with little knowledge

Question Number : 148 Question Id : 92775912938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
A man of letters

Options :

1. % A poet

2. ¥ Proficient in literary art

3. # Good debating skills

4. ¥ Man with little knowledge



Question Number : 149 Question Id : 92775912939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
In the nick of time

Options :

1. # To reach after the job done
2. # Reach before time

3. % Just in Time

4. # Doing nothing

Question Number : 149 Question Id : 92775912939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
In the nick of time

Options :

1. # To reach after the job done
2. # Reach before time

3. % Just in Time

4. # Doing nothing

Question Number : 150 Question Id : 92775912940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Bread and butter

Options :

1. % One's essential meal

2. % Very simple

3. % aperson's livelihood or main source of income

4. # To find something objectionable



Question Number : 150 Question Id : 92775912940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Bread and butter

Options :

1. * One's essential meal

2. # Very simple

3. % aperson's livelihood or main source of income

4. # To find something objectionable

Question Number : 151 Question Id : 92775912941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Out of question

Options :

1. % Blurred

2. % Out of syllabus
3. # Secluded

4. ¥ Impossible

Question Number : 151 Question Id : 92775912941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Out of question

Options :

1. % Blurred

2. % Out of syllabus
3. # Secluded

4. ¥ Impossible



Question Number : 152 Question Id : 92775912942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Marriage of god

Options :

1. ¥ Theogamy
2. % Endogamy
3. ¥ Xenogamy
4. % Allogamy

Question Number : 152 Question Id : 92775912942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Marriage of god

Options :

1. ¥ Theogamy
2. % Endogamy
3. ¥ Xenogamy
4. % Allogamy

Question Number : 153 Question Id : 92775912943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Pretence of having a virtuous character

Options :

1. # Imposter
2. ¥ Hypocrisy
3. ® Covert

4. % Spy



Question Number : 153 Question Id : 92775912943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Pretence of having a virtuous character

Options :

1. # Imposter
2. % Hypocrisy
3. #® Covert

4. % Spy

Question Number : 154 Question Id : 92775912944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Prevent from being carried out

Options :

1. # Deliberate
2. # Intentional
3. # Clarity

4. # Circumvent

Question Number : 154 Question Id : 92775912944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Prevent from being carried out

Options :

1. # Deliberate
2. # Intentional
3. # Clarity



4. ' Circumvent

Question Number : 155 Question Id : 92775912945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Prevention of loss, waste and damage

Options :

1. ¥ Conservation
2. # Collusion

3. % Colossal

4. ¥ Perspective

Question Number : 155 Question Id : 92775912945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Prevention of loss, waste and damage

Options :

1. ¥ Conservation
2. # Collusion

3. % Colossal

4. ¥ Perspective

Sub-Section Number : 2
Sub-Section Id : 927759666
Question Shuffling Allowed : Yes

Question Id : 92775912946 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

On June 21st, 2015 '"World Yoga Day' was celebrated for the first time all over the world. Since then, June 21 every year is celebrated as the
World Yoga Day. A proposal was made by the current Prime Minister of India Narendra Modi to the United Nations in this regard.



UN General Assembly President Sam Kutesa announced June 21 as International Yoga Day. He said that more than 170 countries have supported
the proposal of the International Yoga Day, which shows the sum of the invisible and visible benefits of Yoga in the people of world. UN General
Assembly President also congratulated the Prime Minister Narendra Modi, whose initiative on June 21 every year has been declared the
International Yoga Day.

Yoga is an ancient art which was originated in India around five thousand years ago. Yoga is a good practice if one does in daily life. It helps to
live healthy life style and better life forever. Yoga is a practice to bring body parts together to make a balance of body, mind and soul. We should
let our kids know about the benefits of Yoga as well as practice Yoga in daily routine.

It is considered that Yoga began in India in the pre-Vedic period. Since thousands of years Yoga has been part of the Indian lifestyle. It is India's
heritage. Yoga has the power to unite the entire human race. It is a perfect blend of knowledge, action and devotion. Countless people around the
world have made Yoga a part of their lives. In many parts of the world, it has been spreading. But it spread rapidly after the announcement of the
United Nations.

The aim of the World Yoga Day is to make people aware of the benefits of Yoga in the world. On World Yoga Day on June 21 at all the district
headquarters Yoga program has been put together at 7 am. The program will also be organized at block and panchayat headquarters. All schools,
colleges, Yoga institutions including a large number of policemen will take part in Yoga program.

Sub questions

Question Number : 156 Question Id : 92775912947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-
Options :

1. % Yoga program

2. # Ancient Indian Traditions

3. % World Yoga Day

4. ¥ Benefits of yoga

Question Number : 157 Question Id : 92775912948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, who announced June 21 as International Yoga Day?
Options :

1. # President of India

2. # Prime Minister of India

3. % UN General Assembly President

4. # Block Panchayats



Question Number : 158 Question Id : 92775912949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the aim of World Yoga Day?

Options :

1. # To bring people together and promote healthy lifestyle
2. # To make people aware about the history of Yoga

3. % To spread Yoga around the world

4. ¥ To make people aware of the benefits of Yoga

Question Number : 159 Question Id : 92775912950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ Yoga began in India in the pre-Vedic period.

2. # Yoga does not have the power to unite the entire human race.

3. % June 22 every year has been declared the International Yoga Day.

4. % More than 500 countries have supported the proposal of the International Yoga Day.

Question Number : 160 Question Id : 92775912951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “proposal” is?
Options :

1. # Collateral

2. ¥ Proffer

3. # Coffer

4. ® Profuse

Question Id : 92775912946 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

On June 21st, 2015 'World Yoga Day' was celebrated for the first time all over the world. Since then, June 21 every year is celebrated as the
World Yoga Day. A proposal was made by the current Prime Minister of India Narendra Modi to the United Nations in this regard.

UN General Assembly President Sam Kutesa announced June 21 as International Yoga Day. He said that more than 170 countries have supported
the proposal of the International Yoga Day, which shows the sum of the invisible and visible benefits of Yoga in the people of world. UN General
Assembly President also congratulated the Prime Minister Narendra Modi, whose initiative on June 21 every year has been declared the
International Yoga Day.

Yoga is an ancient art which was originated in India around five thousand years ago. Yoga is a good practice if one does in daily life. It helps to
live healthy life style and better life forever. Yoga is a practice to bring body parts together to make a balance of body, mind and soul. We should
let our kids know about the benefits of Yoga as well as practice Yoga in daily routine.

It is considered that Yoga began in India in the pre-Vedic period. Since thousands of years Yoga has been part of the Indian lifestyle. It is India's
heritage. Yoga has the power to unite the entire human race. It is a perfect blend of knowledge, action and devotion. Countless people around the
world have made Yoga a part of their lives. In many parts of the world, it has been spreading. But it spread rapidly after the announcement of the
United Nations.

The aim of the World Yoga Day is to make people aware of the benefits of Yoga in the world. On World Yoga Day on June 21 at all the district
headquarters Yoga program has been put together at 7 am. The program will also be organized at block and panchayat headquarters. All schools,
colleges, Yoga institutions including a large number of policemen will take part in Yoga program.

Sub questions

Question Number : 156 Question Id : 92775912947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-
Options :

1. * Yoga program

2. # Ancient Indian Traditions

3. ¥ World Yoga Day

4. % Benefits of yoga

Question Number : 157 Question Id : 92775912948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, who announced June 21 as International Yoga Day?
Options :

1. # President of India



2. % Prime Minister of India
3. ¥ UN General Assembly President
4. ® Block Panchayats

Question Number : 158 Question Id : 92775912949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the aim of World Yoga Day?

Options :

1. # To bring people together and promote healthy lifestyle
2. # To make people aware about the history of Yoga

3. % To spread Yoga around the world

4. ¥ To make people aware of the benefits of Yoga

Question Number : 159 Question Id : 92775912950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is correct?

Options :

1. ¥ Yoga began in India in the pre-Vedic period.

2. # Yoga does not have the power to unite the entire human race.

3. % June 22 every year has been declared the International Yoga Day.

4. % More than 500 countries have supported the proposal of the International Yoga Day.

Question Number : 160 Question Id : 92775912951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “proposal” is?
Options :

1. # Collateral

2. ¥ Proffer

3. # Coffer

4. ® Profuse
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Question Number : 161 Question Id : 92775912952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T 2o &7 I fade BT
TRt



Options :

1. % g + il
2. % TRl + BT
3. ¢ TEdl + T
4, % T+ gl

Question Number : 161 Question Id : 92775912952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T Tree 7 I fade PIfvTT|
Agdrs]

N

Options :

1. % g+ dlwsl
2. % TRl + BT
3. ¥ Hgdl + 3T
4. % T+ gl

Question Number : 162 Question Id : 92775912953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T 1o & IUT Fd PR
ICREIRI]

Options :
1. % fa
2. ¢ fo
3.
4. % §1

Question Number : 162 Question Id : 92775912953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faw 7 vrsg # IuT ra S
foaman

Options :
1. % fa
2. ¢ fo
3.% Y]
4. % §1

Question Number : 163 Question Id : 92775912954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T ec; 1 7ol Wsg 1 fobfoT|
Hiferdban

Options :
1. % Hrel
2. Hd
3.% dl

4. % b

Question Number : 163 Question Id : 92775912954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7T Wree; T ot Wsg 71 fBfoTT
Hiferebdr

Options :
1. % Hrell
2.9 Hd
3.% dl

4. % b

Question Number : 164 Question Id : 92775912955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafad o @ ®F 91 gt AN &1 ISR 3|
Options :

1. ¥ IRUTS

2. % By

3. % gwg

4. % QUR

Question Number : 164 Question Id : 92775912955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § I &1 91 Sgeife THN &1 3aexv 5 |
Options :

1. v IRUTS

2. % By

3. % dUWdlg

4. % U

Question Number : 165 Question Id : 92775912956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T 2eq; T Trgd eg T BIToRA |
PR

Options :
1. % foodia
2. % 3fHRI
3. 8 IR
4. TS

Question Number : 165 Question Id : 92775912956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faU 70 Weg T dagd Weg JTd Hiford |
DIR|

Options :
1. % foae
2. % AR
3. % IR
4. 7S

Question Number : 166 Question Id : 92775912957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRad & I ®IF 91 Weg UGS U371 BT IG1eXV 1ol 62
Options :

1. % ®E™

2. % FAFGRY

3. % 3HUAgq

4.« qI-d

Question Number : 166 Question Id : 92775912957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad A ¥ &9 I1 Xeg HIgdTS T BT IS8R0 T8l 82
Options :

1. % DA™

2. % SHFGR

3. % 3{UAY+q

4. % ql1d

Question Number : 167 Question Id : 92775912958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fear a1 I fh g PR & T BT IS8R0 82
o At 75T B

Options :

1. ® UYdrasd

2. ¢ Fyara®
3. % JAYIdrEID
4. % HdYdrddh

Question Number : 167 Question Id : 92775912958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam Tar 9T {5 YR & TdHTH BT IS8T 82
o At I8 B

Options :

1. ® UYdrad

2. ¢ (AYgara®
3. % JAYgdrEId
4. % dYdradh

Question Number : 168 Question Id : 92775912959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad ¥ @ H1F a1 fadivor Qs T8 2
Options :

1. = gy

2. % 9

3. % gDR

4. R



Question Number : 168 Question Id : 92775912959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o a1 fa=i o T8l ]2
Options :

1. % gy

2. %

3. % gDHR

4. ¢ fap

Question Number : 169 Question Id : 92775912960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o 9 Y& ad- &1 994 Sifod |
Options :

1. ¢ IRl

2. % IR

3. % 3ffed

4. % 3R

Question Number : 169 Question Id : 92775912960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 gg ad- &1 994 Sifod |
Options :

1. ¥ SRl

2. % Il

3. % Srgied

4. % JARIA

Question Number : 170 Question Id : 92775912961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faw 7 fawedt & q &1 91 fau U Tee &1 fads T8 B
SR

Options :

| % TS

2. % e

3. % Y

4. ¥ TG

Question Number : 170 Question Id : 92775912961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T fasmed! & @ & 91 fau 7T <reg &1 fad| 81 5|
NE!

Options :

1. % [

2. % g

3. % WY

4. ¢ gdd

Question Number : 171 Question Id : 92775912962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T eg; 1 gatTarel 1d BT
JUTPR

Options :

1. ¢ i

2. ® J&hY

3. % 3{g-

4. % 3fat



Question Number : 171 Question Id : 92775912962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 1T Wec; 1 yatarel 1d BT
JUTPR

Options :

1. ¢ T

2. % Uth¥

3. % 3Yd

4. % 3fqt

Question Number : 172 Question Id : 92775912963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 ara & Rad ®iFE &1 gfd Sifr|

qH gd T B HTH B, & qu O1feie &1 =P & 9 smaf|
Options :

1. % T

2. ¢ o

3. % gHfeg

4. % 33U

Question Number : 172 Question Id : 92775912963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u 7 I/ & Rad ®iFE &1 gfd Sifr|

9 G T AMHR BT R, fob o wifere @t =P o =g el
Options :

1. % T

2. ¢ forag



3. % ST

4. % 33U

Question Number : 173 Question Id : 92775912964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7T o & Rad ®IF &t gfd Siforg|
3{fAdbd A S dell 39 go et

Options :
1. % Haly
2. ¢ YT
3. % Fifd
4. % qifh

Question Number : 173 Question Id : 92775912964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T are ¥ o ®F &1 gfd S|

3{fAdhd A S el 3 ol et |
Options :

1. % Bgly

2. ¥ 3HfeT

3. % Hifd

4. % s

Question Number : 174 Question Id : 92775912965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T aroRaiRT o foru I Wsg o1 9= HifoT|
o Td& 3f~d: B0 BT A1d S ardT gl

Options :




1. ¢ 3fqarH
2. % 3T
3. % 3B
4. % 3=d:

Question Number : 174 Question Id : 92775912965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T arRIiRT & foTu Ifd Wsg &1 99— HifoT|
SN &b 3{=d: B0 D1 §1d S aTdT 8

Options :

1. ¢ Sl
2. % 3T
3. % 3{dh0T
4. ® 3d:

Question Number : 175 Question Id : 92775912966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 o 91 Xeg T el ol 82
Options :

1. # dSlh—dsSH = STea - dTdTd

2. % UG = GIF-3{Tad

3. % GRM-4RM = qid-&fd Y pre

4. ¢ (AR = S8R

Question Number : 175 Question Id : 92775912966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefad o 9 B 91 Wea I et T8I &7

Options :



1. % JSIH-dSN = Seg]-ardd
2. % GHA-SMA = gaHI-3{ad
3. % TRM-CRM = Gid-gid ¥ HIeT
4. ¢ (AEH-FI = ger-rar

Question Number : 176 Question Id : 92775912967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu Tu are 7 Rad wH o1 gff S
3T g3 WSt &b fora |

Options :
1.«
2. % JTHAT
3. % Yo
4. % TAUM

Question Number : 176 Question Id : 92775912967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T areg ¥ e ®F &1 gfd S|
3{Tol g Wifayist & fora |
Options :

1.« fwE

2. % JTHAU

3. % Joig

4. % 0N

Question Number : 177 Question Id : 92775912968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<31 T TN UM fhy HRPb & 1Y gidT 82



Options :
1. % gy
2.« Gayd
3. % guqH
4. % FHal

Question Number : 177 Question Id : 92775912968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 T YR GHRN ol RS & 1Y BIal 52
Options :

1. % Yy

2.« Gy

3. % gUqH

4. % Fdl

Question Number : 178 Question Id : 92775912969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foraT & FARARdT &1 ferd B aTa Idq o1 B 91 52
Options :

1. ® gof

2. % dfew

3. % g

4. ¢ TATDICID

Question Number : 178 Question Id : 92775912969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopaT &t fARaRaT &1 Yfud oA aTa g H1d DIF 41 82
Options :




1. % gof

2. % dfew
3. % gE
4. ¢ ATHIAID

Question Number : 179 Question Id : 92775912970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T T8 &1 WA I FBIvTWI
Holgr

Options :

1. % Hoigd

Question Number : 179 Question Id : 92775912970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 7Y Wreq; 1 TAfehT I HIvTT
Holgr

Options :

1. % Hoigd

Question Number : 180 Question Id : 92775912971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 71U Xsg &1 IgaT- 1d DIt



BIEC

Options :

Question Number : 180 Question Id : 92775912971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 71T e DT Igd= AT DIfTT|
SIECa]
Options :
1. % Uit
2. % gl
3. ¢ GRS
4. % Ut

General Hindi2
Group Number : 10
Group Id : 927759502
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Hindi2

Section Id : 927759538
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759668
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 92775912972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ TTQ aTeR &7 v 1 I
98 Wien It aR gH1 3|

Options :
1.¢ quf
2. %
3. % gracaiyd
4. % (YIS

Question Number : 181 Question Id : 92775912972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 71T areRr 1 gt F1d BT
I8 Tten Seiof s g B |

Options :

1. ¢ quf
2. %



3. % gD
% RygmH®

Question Number : 182 Question Id : 92775912973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 7TQ a1 Pt gy I P
g gH Ag-Td HR o o) 9 gl ST |

Options :

1. ¢ Jhdrde

2. % A YEaH
3. % fAzade
4. % e

Question Number : 182 Question Id : 92775912973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 1o ) gy 1 BT
gfe T HeId &R al dl Thd gl o3|

Options :

1. ¢ Jhdrde

2. % QI gaH
3. % e
4. % IMdH

Question Number : 183 Question Id : 92775912974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam a1 aTe fh Y ey &1 3360 &, F1d Bl |
3UPH! B RIS UT|
Options :




1. % 3
2. % TN
3. ¢ T
4. % ITH

Question Number : 183 Question Id : 92775912974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T a1 ford W T ISTERUI B, J1d BHiforg|
3{TYeh! el RIS T

Options :

1. % 3

2. % UYyy

3. HYYH

4, % 3dH

Question Number : 184 Question Id : 92775912975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU T 919 & UHR & UgaH HIfoT|
9% g1 Ygdl § SIel §gd e ]
Options :

1.« oy

2, % W

3. % 9

4. # 3Udi]

Question Number : 184 Question Id : 92775912975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feT U 9190 & UBHR P! UgdH PHifoT |



dg 981 Tl § gl 9gd TiaT 8|
Options :

1. ¢ oy

2. % HYgH

3. % WA

4. % JUaTEy

Question Number : 185 Question Id : 92775912976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad # @ o I a1 IR are T8l 8
Options :

1. % Y7 TSI g3 Bl WA

2. % 3] ASHI o Il T4

3. ¢ =1 oreT fohr TBT S|

4. % g I NepR SR S|

Question Number : 185 Question Id : 92775912976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & & o 91 976 WRd a1 75l o
Options :

1. % TGS g3 Bl Wi |

2. % R ASh] ISNIENIRIRIE

3. ¢ ST GIST TR I81 ST

4. ® J-I-\|6"| iy L4|ﬁ|<31’>€ SINICES I

Question Number : 186 Question Id : 92775912977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ areRIier o foTe Sfrd Weg &1 = Hifeig |




9gd 3% gRed B aren
Options :

1. ¥ PRIR

2. ¢ Ugdl

3. % BB

4. % qETIS]

Question Number : 186 Question Id : 92775912977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U Ireaie & fore Ifeid e &1 T Sifvid |
ggd 31 uReyH B arel

Options :

1. ¥ PRIR
2. ¢ T
3. % DB
4, % oIS

Question Number : 187 Question Id : 92775912978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = & fou U IR fawedl & 39 fawed &1 999 &2 Sl fou U geTak & 3 &) 99y ©u ¥ ad aidl |
3 I 3 prd § it qTal B HH TRl B

Options :

R CANE

2. ¢ HIH 79 e

3. % T 99 T

4. % AT} B @A

Question Number : 187 Question Id : 92775912978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fYad = # fou U IR fawedl & 39 fawed &1 999 &2 Sl fou T geTak & 3 &) a9y © 0 ¥ ad aidl |
A I 3 prd H i el &) HH R B

Options :

1. % Al e

2. ¢ HIH 79 e

3. % T 99 T

4. % Al DI @A

Question Number : 188 Question Id : 92775912979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu TN a1 H T TR o favH fog &1 ST foan S, I9eht Uga oifoid|
3G TR 31T YIS R BobT 3R =l T

Options :

1.,

2. %

2

3. %7
4. %

Question Number : 188 Question Id : 92775912979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T 919 # {5 TR & favH FIg &1 SUanT fohdT STET, 396! Uga Hifed|
3{TE BR AT ATST &R BapT SR =all T4

Options :

1. ¥

2. %

3. %9

4. %




Question Number : 189 Question Id : 92775912980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifed 7 g7 &1 9 Wsg R R?
Options :

1. = gul

2. % 4Yd

3. ¢ U]

4, % U]

Question Number : 189 Question Id : 92775912980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffad 7§ <G &1 deaH Wed T 72
Options :

1. % gul

2. % 4d

3. ¢ 4U]

4. % U]

Question Number : 190 Question Id : 92775912981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e I/ § f&5: & 91e S 9 g &1 W 8|
f5: fopat 7idt sE |1

Options :

1. % guf foR/

2. % DIYH

3. % fd=®

4. ¢ fouqafeay®




Question Number : 190 Question Id : 92775912981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau g I/ # f&5: & 918 F W g &1 w8l
f: fopai 7l SR B

Options :

1. % Ui foRme

2. % HIFD

3. % (=@

4. ¢ foumrfediys

Question Number : 191 Question Id : 92775912982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feard R & foU MU IR fawedl & 39 fadhed &1 70 &2 off 3T T geTar & 31 & Jd9% U I Fdd Hdl ¢ |
AT HTH ) (ApTd fokl, Red g sd ystal |

Options :

1. ® SR & fea
2. ¢ 33T few fean
3. % 31 fean <t
4. % By fomr fea

Question Number : 191 Question Id : 92775912982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feard R & foU T IR faswmed & 39 faded &1 7o & off T 7T geTar & 31 &l Jd9% U 9§ ad Hdl ¢ |
AT HTH ol FpTd [, Red g sRd ystal |

Options :

1. % SR & faam
2.+ 33T few fean
3. % ofid faar &t




4. % Ty7 fomr faan

Question Number : 192 Question Id : 92775912983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve ), fou U IR faweal & ¥, 39 fadmen &1 997 & 1 fou U geTak & 31 ol Ya9% U § oJad Rl g |
A9 Bt HAfSal WR TTaTg! ST

Options :

1. % DHidd HH

2. ¢ T T BT HAT

3. #* d[d del dael b DRl
4. % Iferd AT HAT

Question Number : 192 Question Id : 92775912983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl § 9, 39 fawed o1 9o 3 o1 f3T 70 HeTer & 31 &1 Jd9§ U ¥ oJad HRal g |
dd Bt SISl UR TTaTg! ST

Options :

1. % BT HMH

2. ¢ I H B HAT

3. % §Td J¢1 IQI PR hRAl
4. % IfId YR HIAT

Question Number : 193 Question Id : 92775912984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |
3 a1 Tt SreH

Options :
1. % Gid &l AT @




2. % Uc H TG
3. ¢ TURRTRG gl
4. % ZRI gl |BreT

Question Number : 193 Question Id : 92775912984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawmedl § 9, 39 fawed o1 9o 3 o1 fT 7T JeTar & 3 &1 Jd9§ U ¥ oJad Hral g |
S a1 Tt 3t

Options :

1. % gid Pl At @

2. % Ue H TG

3. ¢ GURTRG g1

4. % IR gl |SreT

Question Number : 194 Question Id : 92775912985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7T 2rsal & FHg & forw Iferd 81 3rd B
3fcehT ST 4d FUR

Options :

1. ¢ TR fad SaTg] 1 off vl 8

2. % SHAYSY

3. % gfag g T

4. % 3 YR

Question Number : 194 Question Id : 92775912985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T w1sat & I & fory Ifa o wra v
3ch] 9T ¢d IUR



Options :

1. ¢ ToIeR SAfaa el o1 off et g
2. % 9HA Uy

3. % gfggH g Tme

4. % 30T YR

Question Number : 195 Question Id : 92775912986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u 7TQ Srsal & g & forw 3o o 3rd wifom|
3{ies 1 Uifd, ST ot ofifa

Options :

1. % I 3R AR & g
2. ¥ G BT U SRR BT
3. ® HY g & oIt dUR

4. % f9dd 3HYg Hfda

Question Number : 195 Question Id : 92775912986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U MU Treq] & THE & fore Ifrd o 3ra Pifo |

318 1 Uifd, STe b +iifct

Options :

1. % I SR YR B a1

2. ¥ &1 0 SRR ST 2

3. % HY g & [T IR

4. % f9dpd 3Yg Hfdd

Sub-Section Number : 2
Sub-Section Id : 927759669
Question Shuffling Allowed : Yes




Question Id : 92775912987 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TS T T T | TR O STYR TR Ui Uy T 7Y € | eI &1 e9MYddh U adl T U & IR faded! & § g faded g1
SRR & 3{d HRUI§ | §7 BRUN IR TR IR 37 g2 B BT Td fopa1 o1 arey, Fore faemeff & srq=nfra Sftaw o= &t der
1 [Ah Bl | Hs BT Afadd HRUN U SFIRMET6 ] BT RIGR 81 oId & | T S fSRgH siia Sitd € 1 3 7 T80 WR 301 8 S
HRA ¢ SR AT B IRy & S9! S Bclt 81 TN 9 319 B! A IS S T1d & 3R P IR SR Sl § o 81 3T BT BT
ufag 3 € | UTRaTes araraRur gyt uRkfRufaa Hft IR &1 SRl a9 Skl § | ATd1-fdT &1 3gfad aTd, a1d Hae-e aee &
i SR 311fE ¥ +ft S § SR ! daldl fHed g | 3, T iR IoHide SRl § off SE & SRl i

T et 8 1 acrar e ugfa ft Sl & SHRRE T & i 36 8¢ ad Q! &, Fifer 390 SHEl &1 AfadiTd B Bl ToRSHaS HR
T STTaT & IR TRI&MST a1 34 UTe 3iahi &1 fa=IY Hed a1 Sl § | S &8 B! 1 UAHT Gadx I8 o] ¢ | H aR 9gd 3w 3
T B H BT 30T SBTET SRITSH H Jaw 78! & UTd 3R SHH UiTHTa Tl $H 3 U BT B8 3+ HRUN I Y U 6 ad g |
HIS-HATSITaTG, SRIGHTIRT Td HiasT & Ufd ST off S=Ig T 1 HIRUT g1 &7 7Td 3|

Sub questions

Question Number : 196 Question Id : 92775912988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR S| &1 HGER BT 8IdT 82

Options :

1. % UIS-A% 64 ara

2. ¢ &1 81 Sfia SiAT

3. % 31eRl B &1 St ST

4. % I WA d AP

Question Number : 197 Question Id : 92775912989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OTRATRe aTATaRU S ! bl SR g §-Td 82
Options :

1. % OId1-fd1 &7 §=l IR Iferd gard

2. ¢ HIdI-fUdT &1 Sl W 3ffId Gard

3. % ATaL-fUar &1 e 3y & dsl




4. % gRAR & Gt I &1 RER 9H

Question Number : 198 Question Id : 92775912990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T 1 e J1d P

Options :

1. % gfaur &1 fasra
2. % Rremugfa

3. SR gIHdT
4. % BHE B UfauT

Question Number : 199 Question Id : 92775912991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Ul SR giar & for gt 8, 3 Sifma /2

Options :

1. % 37§ 3731 T51 &I offet 5

2. ¢ 39 e Ugfd ¥ ohad 3fe! W & fear Sar g |
3. % 39 e ugfa o = a1 Ram S|

4. % e Ugfa Sicdd R S g B

Question Number : 200 Question Id : 92775912992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BET BT UfAHT T BT BRI T g2
Options :

1. ¢ B DI Tl DI S8 bl TR &M G|
2. % BT P Tg! AFf <= <A1

3. % B B SlId4-ed BT 7 8|

4. % URER ¥ geg Udare fire




Question Id : 92775912987 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

TS TSI 0T T § | TR o TR WR Uid U faU 7 § | TR &1 eAgd s U aul Udd U & dR fadmedt o 9 el faswed g1

% 3P HRUIE | $7 HRUN IR fTaR HR 37 g2 B3 BT Yad foba1 o1 A1feC, fora) faemff & sramfid sfias s &t da
1 [dHT 81| s S Al HRUN A SRR HI FRIGR 81 S1d § | T BT GMEH Siia Sitd g | 9 7 df I977 WR 301 78 B
TR & IR AT 81 BT o= H 39T BT BIct 8 1 ST A 30 BT 3§ fUBS 91 & 3R P IR SRR Bl | fored 81 31 g bl
afag 3d € | UTRaTRes araraRur quT URfRifaat Ht MR &1 HRUI 89 Skl § | ATd1-fUdl &1 33fad T4, a1d HaeiT-e a9 &
Ui SR 3111 ¥t S § SR 1 ! daldl fHedl g | 3, e 3R JoHiae SRl 4 off SE & SRl B
i firetcht 8 1 A e ugfa il o & SFRIERI & U $© g do QN 8, Hifd S9H BT B AfRiTd Y Bl ToRSfars B
T ST § SR URTefMaT auT S8 UTd 3idh! &l fa=iy A a1 offdl § | SHY B3 S B UiaHT Gadh: 3¢ oIld ¢ | B3 IR §gd 3w 3H
T R off BT SO SBTRET TRATSHT H 7w 781 @ UTd 3R HH UfAUTI aUT 4 3 U BT s 310 HRUN J Y=l U 6 dd 3|
YTS-YefoTaTe, SRISTRT Td 4w & Tfa SFART 4 SRR 61 HRUT g &9 ofd & |

Sub questions

Question Number : 196 Question Id : 92775912988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR STl 1 TGER BT gl 82
Options :

1. % AS-AK{t B3 arel
2. « fa=n 8 Sftaa S
3. % 31eRf B &1 Sitad S
4. % I I d A

Question Number : 197 Question Id : 92775912989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIRATRS JTATaRUl BT &1 el SR 814 ST 82
Options :

1. % 11 &1 §=l IR Ifed gard

2. ¢ TIdI-fOd DT S=i W SfId gaa

3. % HTa1-fodT o1 9ed 3Muy | a1




4. % URAR P Gt T} BT IRER UA

Question Number : 198 Question Id : 92775912990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TR HT =fefe J1d HifoTd |

Options :

1. % gfaHT &1 [de™
2. % Rremugfa

3. ¢ SR gl
4. % BHEI B UfauT

Question Number : 199 Question Id : 92775912991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e UG SR gHdT & forg g &, ¥ ot S g2

Options :

1. % 39 3= eI ol offchl 5

2. ¢ 59 e ugfa & Faq sl wR e g S 3
3. % 39 R ugfa o = a1 Ram S|

4. % 1&gl Sfdd QR 81 Ih1 3|

Question Number : 200 Question Id : 92775912992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B DI TAYT T8 BT HRUT T 82
Options :

1. ¢ BH I T DI TG 3febl TR &1 G|
2. % BT P Tg! AFf <= <A1

3. % B DI Sld-Jed BT A A 51|

4. ® URaR ¥ ¥eg Maare e




